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9530 LEAMEIBEGHOL 06030 MOHO  Bodo®owY, LSS
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53MM5E MO0 Bsdmdsm 1
o9ds: python 356099m, 960L LobEsguo, MoEbzgdcb
dm35mds

559993539090 Ls30mbydo:

— IDLE- 05849853990 256900;

— 960l Lob@sduo;

- 09¢)9bs, o0m@GHobs, 3mI9bE6M0;

- 6o3Ebz0meb 3dsmds;

- 6o3bgqdob 456Mogdbol 3wmbdizogdo.

IDLE- 05390539000 95690
Python Lobi@gdol obbGowsgool 8909y aoblbgboom IDLE
(Integrated Development and Learning Environment). 250bbgds

0b@9cmodd o Mm9g080, ©3hgMMmm 300390 3MMYMDs:
"hello world".

print("Hello world!")

3903969  3m©o IDLE g3obyo®msdo @s @osgodmgo Enter
©053L. 8900930 299M35 BobxsGsTdo:

39056907 89900920 LEGHMOJMbgdo s Joowgm G E9do:
print(3 + 4) #7

print(3 *5) #15

print(3 ** 2) #9

36MaM5d0L Bsool Lobom dglsbsbs 0bEgMod@me Mgg0dd0

soMbogm File — New File d63dsbgds o @osFodgom Ctrl + N
33d0653000.



29bLbo gsbx G530 Fgo@sbgom d90gy0 3Mo:

name = input("What is your name? ")

print("Hello,", name)

5530609 F5 003l 96 s06Bogod Run - Run Module 36:ds690s.
36530l 259390599 LolEgds 9amymo35H9dm  Bsowol
d965bgzol.  Jgobobgom goowo Loz s@AO0WSL @S 3ol
9990099 30306505 25983900.

399p0:

What i=s your name? anna
Hello, anna

960L Lobsguo

©509m900 65dgbodg 0bLEBHMMIz0s ghm LEBHMoJmbAdo,
399mymz0eo F90EH0w-0d0dggdoom:
a=1;b=2; print(a, b)
099935 590b 25393905 bJoM5 5M5LoLYIMZ9W00.

dgLodegdgos goomo  obbEmwdgool  Godgbodg
LEHOOJMbs© sHgMo:
if(a==1and b==2and
c==3and d ==4): # 5d mOHofgBEGH0wo Mbos
print('spam' * 3)
Mo  0bLEHOMI300L  GHobo Q9bsmgLgm  doMHomMowO
0bLEHOMJzooL LBModmbdog:

if x > y: print(x)



393565, 350m@Hsbs, 3139b@SM0

>>>a=5
a
399M035bL: 5

239630bomm dogowomgdo:
#9L 3063900 300396GHM0S
abc=3 #9b 999 3mIbE M0
#... 9b 9gLdg 3mA96E M0

STRING="“# gl 56 50l 3020960

Mosbzgdo
95925 0mMY0dO:
>>> 242
4
>>># gl 300096@ 5600
242
4
>>> 242 # 300096@ 560 300000l LEBH®OJMmbdoggs
4
>>> (50-5%6)/4
5

>>> # 0090 3b35 39gmaoLsl 8990 IMP350Yds
... #6530 93Mdom

.. 7/3

2



>>>7/-3

-3

MO0 HoEbzol 8936M9ds:

print(6 + 2) #8

™60 MHob30L odm3engds:

print(6 - 2) #4

MO0 HOEHb30L QoTMOZWds:

print(6 * 2) # 12

MO0 MHobzoL goymas:

print(6/2) #3.0

™60 MHo;b30L IWOHOEDIS JogmBs:
print(7 //2) #3

sba®olibgds:

print(6 ™ 2) # 36

65300L 300gds goymaol d9wgs:
print(7 % 2) #1

299bobegdol 5dmblibs:
number=3+4*5"2+7
print(number) # 110

§obs dogscomdo dmddggdgdol 308q30™doL 45abHymdo
3990y9gb9dw0s gMBbowgdo:

number=3+4)*(5™2+7)

print(number) # 224

90603900b Mm39M5GMOMOL (=) 4o8myqbgds:
>>> width =20

>>> height = 59

>>> width * height
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900

96003690md0l  doboFqds  9OHPOOMMWs©  ©5d©9body
(33LoEbY:

>>>x=y=z2=04#X, Yy ©5733ws©90L 30960390500 0
>>> X

0

>>>y

0

>>> 7

0

90603900l b3gEosIMHO M39MH(30900:

+= 89360900l 890930L 806039ds;

-= 299m3gd0l 9990l 3060 F9ds;

*= 250653900l 3990l 306039d5;

/= gogmaol 9900930l dobo Fqds;

//= 800g@™03b3s 359maxz0L dggaol 3oboFgds;
**=603b30L bo®olibol d0boFqdo;

%= 259 530Lysb J0Mgdmwo b5dmol dobogds.
35350 0mYd0:

number = 10

number +=5

print(number) # 15

number -=

print(number) # 12

number *= 4

print(number) # 48
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6HoEbgz900L goMsgddbol gmbjzogdo
1bds09d0: int() s float()

9399990 3oL M) gdoLsl 4969M0M©IdS 393M,
5096 3060390 Hobzo FoMdmoaqbl LEGH®OJMbU.:

first_ number = "2"

second_number = 3

third number = first number + second_number

993M30L  5IMBH3MOLMZ0L  LEGHMOJMbo oM s3JdbsM
Moibzo int() mbJEool sbdsdgdom:

first_ number = "2"
second_number = 3
third_number = int(first_number) + second_number

print(third_number) # 5

399m30ygbmo float() 3mbd309, 83Me3hgMGH0E0sb MHobzs
239Mddbolomgols:

first_number = 2.0001
second_number =5

third number = first number / second_number

print(third_number) # 0.40002000000000004
3909200 oLsIMY35eGIWSE 490Mm30Yygbmo round() gbdsos:

first number = 2.0001

second_number = 0.1

third_number = first number + second_number
print(round(third_number, 4)) # 2.1001
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9o5omdo  m3gMo@GMMdo 89039396 FgmgMeo GHodgool
3965698, 900990 d00Mgds 3329937 9OEGH0W0sb0 GH03do:

>>>4%25/3.3
3.0303030303030303
>>>7.0/2

3.5

3033w9duymo Moabgzo: a + bi GHo3ol Aodmlsbmengdss, a —
65dz0mo MHoibgz0s, bmgm b — Fo®dmbobgomo bsfowo.

3033w 9Jumo MHobzol dowgds:
>>> x = complex(1, 2)

>>> print(x)

(142))

>>>y = complex(3, 4)

>>> print(y)

(3+4))

z 3093¢9dbwmHo MHoEbzosh Boffoargdol sdmmgde: z.real s
z.imag g59my9bgdo0n:

>>> a=1.5+0.5j

>>> a.real

1.5

>>> a.imag

0.5

9ogomomo MB3969dL, MM dogwo s I3Me3haMEGH0w 0560
MoEb3900L 456Moddbol Bbjzogdo (int(), long() s float()) 6
99d5md9b 3mI3ergdumEo HoiEbgzgdolomgzob:

>>> a=1.5+0.5j

13



>>> float(a)
Traceback (innermost last):
File "<stdin>", line 1,in ?
TypeError: can’t convert complex to float; use e.g.
>>> a.real
1.5
Python 958myg690s LBog0M 35¢ 3G MMOL Loboo:
>>>tax = 17.5/100
>>> price = 3.50
>>> price * tax
0.61249999999999993
OMamOE 05250m0b RsbL, dmem 4sdm@Esbogro 9603369-
@©Md5 dgobobrmen 0465 33esdo.
Q©535¢9ds 1

339W05GHM0Esb  FgoBobgm  IMOEbmo  msbby,
3990m3590 15dgIMBOZW M 3YA3MS - IMOEBYYwOL 20%,
Lo39bLom  BMBbEOLMZ0L  EsdYYMOO - IMOEbmEol 2%,
b 9d9M0o Msbbs @y bganbyg Asboggdo msbbs. ygzgws
900900 36033690 mds 35dmoEsbgm 3MBLmMBy.

Q0535¢190s 2
9m39dmwo  MoEbzgdosb (7, 9) doomgo 3m33egdurMo
MoEb30 9 259M0Ebgm 3MbLME Y.
535¢0gds 3
9 3999wos 3033gdudo Mogbgo: a=3.7+5.9j sdmomgm
59 Mo3b30096 638300 s FoMdmbobgzomo bsfoergdo.
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305G MOH0ME0 Lsdwdsm 2

0995: 33500739¢0 M39M5EHMMYd0
5155899853909¢00 Ls3z0mbgdo:
— if-elif-else 0bLEHOWJ309;
—  While 303¢0;
- for 3030;
— continue M39M5&M6M0;
= Boydnwo gogwrgdo.
if-elif-else 0blE®MJ309

if-elif-else 0bLEHGJ300L Bmyso Loby:
if test1:

statel
elif test2:

state2
else:

state3

9525W0m0 89353l 'true’ -l MY 1 s6H0L FGddoMoE0:

>>>if 1:
print('true’)
... else:

print('false")

true

95g90mdo 890930 ©9IM30IONI0s 035BY, M) M
3903565 9mabT>69d9e0do:
a = int(input())
15



ifa<-5:
print('Low")
elif -5<=a<=5:
print('Mid')
else:
print('High')
©@MR03MH0 M3GOSGHMMIOO:
dogoewomdo X 3609369 md0sb 998mdobsty A -b
909603905 Y 96 Z, dm3gdmeo Hoibggdobomgol A--b dogboFgds
-3
X=1
Y=3
Z=7
if X:
A=Y
else:
A=7Z
print(A)
03039 0bLEHMWYJ305,  FgodErgds  LOfIOHML  MRGM
dm3g:
A=YifXelse Z

39630bowmm 3093 MO FoQOE0MO:
>>> x = int(input("d90¢sbgo Hoigbgo: "))
>>>ifx < 0:

..x=0

... print ('9sgmgzoml 3;33com 0-007’)
... elif x ==0:

... print (6xo0’)

16



..elifx==1:

... print ("96H»0’)

... else:

... print ('d9¢0’)

390056900l M39GM3E00l Bog9¢009d0:
a=>5

b=6

result =5 == 6 # 30bsbsgm M39Mo300L T99aL 33¢sTo
print(result) # False - 5 o6 6ol 6
print(a !=b) # True

print(a > b) # False - 5 6s3c0gd05 6
print(a < b) # True

booll = True
bool2 = False
print(booll == bool2) # False - booll s6 w100l bool2

©MY03IM0 M3JMS300L F3g5¢0mYdo:

and (¢rmy037M0 godMsgwgds)

5) age =22

weight =58

result = age > 21 and weight == 58

print(result) # True

0) age =22

weight = 58

isMarried = False

result = age > 21 and weight == 58 and isMarried
print(result) # False, ©50gob isMarried = False

17



or (my03mMo 99309d9)

age =22

isMarried = False

result = age > 21 or isMarried

print(result) # True, ®5gob age > 21 &mwoos True
not (CMA0329M0 voMYMGIY):

age =22

isMarried = False

print(not age > 21) # False

print(not isMarried) # True

9990999008  80893M™d0L  F933w0oLmM30L  AMRZWO
53MBbogdolL A59mygbgdo:
age =22
isMarried = False
weight =58
result = (weight == 58 or isMarried) and not age > 21 # False
print(result)
While gogeo
3030l Lob@sduo:
while 306Md5_50mbobvyengds:
0bLGHMMJ30900
300 893053L 5-sb 15-009 396 GoEbggdl:
i=5
>>>while i < 15:
print(i)
i=i+2

18



11
13
3300Mbskols ®03b3900L godmm3zEol 3GMMYMHTME0 3:MEO:

>>> # godmbshols a3 030:

.. # 60 Hobs HoEbgzol xsd0 2oblsbL3MH3L
... # 00936ML

...3,b=0,1

>>> while b < 10:

... print (b)

...a,b=b, a+b

Uw N = e

8
3ob30bowmm  3OMaEsds,  MMIgwosg  omzwol  MHosbzol
39dHMO0sLs:
number = int(input("dgo@sbgo Moibgo: "))
i=1
factorial = 1
while i <= number:
factorial "= i
1+=1

print("®o@bgol ", number, "®sdGHmOoswo Gmeros", factorial)
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399©930:

39039690 Mogbgzo: 5

6o3bgol 5 godEHmemoswo @Gmeros 120

for 03¢0
303w0L Moo 45bLsBEIG:
for int_var in @x6J30s_range:
0bLBHOMJ30900
3394 BHMM050L 25FMM3OL FoQdE0MO0:
number = int(input("dgo@sbgom Gogbgo: "))
factorial = 1
for i in range(1, number+1):
factorial "= i
print("®sd@GmMoseo", number, "-ob @mer0s", factorial)
range g3v16J300L BMOIGd0:
range(stop) - 506Mwb6qdL yz9ws doger Hogbgl 0-sb stop-
9c00;
range(start, stop) - 506MH6gdL ygzgws doger Moibll
dmomgdo:  start-ob  (Bosmgwrom)  stop-0g (96
Bo3wom).  5odBHMM0sol  250mmM3Erol  Joder0mdo
LHMOg© U RGOS 0gm 39dmYygbgdmeE0o;
range(start, stop, step) - 5060690l dmger ®oEbzgdl
dmoegdo:  start-ob  (Bosmgwrom)  stop-0g (96
Bomgwom), MmIwgdos 0HBMH©Yd0sb step 360d369-
MOOm.

range 3311693000 2459Mmygbgdols Bogseomgdo:

range(5) #0,1,2,3,4

20



range(1, 5) #1,2,3,4
range(2,10,2) #2,4,6,8
range(5,0,-1) #5,4,3,2,1
299m3035b6mo 30dg3M™Mdom 43zgws MHobzo 0-sb 4-8¢Y:
for i in range(5):
print(i, end="")
dogowomdo  303wo  5dmoB3L  Loosb 9w 9dgbEHgdL
909936 ™Mdom:

#659009b0dg LEGHMOJMbOL LoMAOL QoBLYBOZM:
a=['35®", 'b3ow', '379MHVIO']
for xin a:

print (x, len(x))

899p0:

35¢)° 4
b3oerm 5
3OO 8

continue m39M5GHMM0

dogocwomdo ‘00 sbmb  Fgdmbgggzsdo  303eol  GHobo oM

d9LeImME0ds:
for iin "hello world":
if i=="0":
continue
print(i, end=")
89g30:

hell wrld

21



break m39GsG ™™o
359290mdo 30300 J9HY39BL, 399Fomdsls ‘O’ LoFdMEOMLMb:

for i in 'hello world":
ifi=="o"
break
print(i * 2, end=")

39©930:
hheellll

dm3gdme  Bogowomdo  303wdo  20dmygbgdmeros  else.
0bLEGHMMI300L derm3o else-ob dogbom Fglcrmegds FbME M
00 090mbgg3sdo, vy (303006 Aslges dmbs break-ol
396909
>>> for i in 'hello world":
ifi=="a"
break
... else:
print(‘a sbe 56 sG>0l LEGH®OJmbTIo')

a s 56 5M0oL LGHMoJmbdo

39630b0WMmm 355000, 353 0L 49933C g0 3Mbd@o:
print(" sl gdoLbm30L IsFoMHgm Y")
while True:
data = input("dgo@sbgom msbbs gogawrolimzol: ")

if data.lower() == "y":

break # 30300056 oLz
money = int(data)
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== RE STAERT:

dgodebgom mebbe gopgurrolbogol:
s0(3)ds 39.08 oumeto
Boodeboor moebbe aopauoliogol:
wsoE)de 78.12 qeumefo
dgodeboem mabbs popamobogol:
woenEde 175.78 qrumsto
dgodebgom mebbe gopgurrolbogol:

cache = round(money / 2.56)

print("s0(399s", cache, "©@m@sM0")
print("go33womo 3bJ@ob 8wgdsmds olMYIEgdMe0s")
99730

C: ,-"Use:rs,-"’G.11:L]-cr:n;'ﬁppDat.a,-"]'_r:ncal,-"ProgIa_rrs,-’
oelifrmrmabobongols @osFofgom ¥

100

aspamomo JnbjGol Smbamds nghﬁrgq‘:?;}&g@o.}

i

39630b0Mmm 259653 gd0l 3OOl Fogoe0mo:

for i in range(1, 10):
for j in range(1, 10):

print("\n")

dos  (303e0L (3939 0@JMS30530

Boadmero gogergdo

print(i * j, end="\t")

30bLmemby

3990396905 1 s j MHoEbzgd0L BodMozew0. 30300930 TgIAl:

1

2

3

== RESTART:

C:/Users/Guliko/AppData/Local/Programs,/Python/Python36-32/bv.py

5

10

15

30

35

40

45

1z 14 1a 18
18 21 24 27
24 28 3z 38
30 35 40 45
1 42 48 54
42 49 5 ]
48 56 64 T2
54 63 T2 81



©535¢ngds 1
3505 OH0D Fgodsbgom Lsdo Gogbgzo, dgsdmfdgo 3
oEb300m 50905 09 90O BOAZMPbYPO. MY 50900,
399M0m35q0 JoLO FoMMMOO s M) 36 50905, 3MblM by
3990356900 JgLodsdolo dg@ymdobgds.

535¢0gdS 2
3030l 259mygbgdom 50md93gm 2-sb 20-dg o
6oEb3900 BEOEOL dobgzom
©535¢09ds 3

3030l 359mygbgdom s9mdgFgom 20-sb 2-0g o
6oEb3900 3gd0l dobgz0m.
535¢ds 4
33053 M0sb F9o@obgm LEH®odmbo: ,information”,

3OMyM5359 LEBHMOJMboIb 5dMdgFML yzgws Loddmerm i
Lo ML JoMIS.

QO35¢09dd 5
3003053 9M0sb  g0¢sbgm LGModmbo: ,,information”,
3665059 bLAHMOJMbob dMdYFML y3zges LoddMmE™ ,,a“

LoddMEMIEY.
©535¢9dS 6
Boadmwo  (303wqd0L 1 3 s 7 5
a40dmyqbgdoo  doopgom = 9 15 21 27
838@360 Gb(‘/f)O@OZ 5 15 zs 35 45
7 21 35 49 683

24



53O GO0 Bsddom 3
0995: bE®ogmbgdo

5155899853909¢00 Ls3z0mbgdo:
- LAH®OJMbo gobloBMzM.;
- M3965(30900 LEGHMOJMbydbY;
- 53bd30900 5 3900MEJ00 BEGHOOJMbYOMB Lodwmdomeo.

LA®ogdmbol Go3ol gsblisbg®s
>>>’spam eggs’
spam eggs
>>>’doesn\'t’
doesn’t
>>> "doesn’t"
doesn’t
>>>""Yes," he said.’
"Yes," he said.
>>> "\"Yes,\" he said."
"Yes," he said.
>>>""Isn\'t," she said.’

"Isn\'t," she said.

363d9emo UdHoJmbryemo 3sdmbsbryemgdols osymaps Hsdogbody

bAd®ogmbsco:

hello = "9l g6dgo LEHMOJMbMEOo ASTMUBbMEdss, BMIgEo;

3903530 \n\

650096039 LEHGOJMbL\N\*

print (hello)

390930 0g690s:

b 36390 LEGHOOJMEMWO FodMbobIEgdss, HMBgwrog dgoEegL
25



058096039 LEGH®OJMbL

1bg9650650, 3H9duGH0o 990dEgds Bsoligol Loddsg dMFgoergddo: "
"eb T

print ("""

Usage: thingy [OPTIONS]

-h Display this usage message
-H hostname Hostname to connect to
")

3990396l dggab:

Usage: thingy [OPTIONS]

-h Display this usage message

-H hostname Hostname to connect to

bAdGogmbgdol 35903056985 s 359(r53¢m985:

>>>word = "Help’ +’A’

>>> word

HelpA

>>>’°< + word*5 + 7>’

<HelpAHelpAHelpAHelpAHelpA>

96»3s69000L 33900  Bsfgmowo mGo  LEGMogmbol
395960006 gds:

word="help"a'

890g20:

'helpa’

98 99nMmEOo 3MFomdL dbMEMmE 9OHMTSBgMOL 439MOm
509m0wo LGMHogdmbydobmgol:

>>>’str’ ’ing’ # LHmEM0os

string’
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>>>’str’.strip() + ’ing’ # LHmE0o
‘string’
>>>’str’.strip() 'ing’ # 9930md05
File "<stdin>", line 1
str’.strip() ‘ing’
A
SyntaxError: invalid syntax
LEOogmbols 69d0ldogMo LoddMEML sdMEYds S FMHOM
939LGH®0gmbols Jowgds:
>>> word[4]
A’
>>> word[0:2]
He’
>>> word[2:4]
I
LEGHO0JMbdo LOTdMEML 933300l F3PIWMDS AIBLIBLIOHVYP
30H030530 96 J39LEHM0JmbTo godmofjz93L gz mdsl:
>>> word[0] =%’
Traceback (innermost last):
File "<stdin>", line 1, in ?
TypeError: object doesn’t support item assignment
>>> word[:-1] = Splat’
Traceback (innermost last):
File "<stdin>", line 1, in ?

TypeError: object doesn’t support slice assignment

FOob 0bg7ligdol gsdeadmz98s:
>>> word[ :2] # 30639c0-m6M0 LoddMEM
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’He7

>>> word[2: ] # dogwo LEHOMoJmbo gomEs 3060390 ™GO
LoddMEOMUBS

’IPA’

FOoL  m396M5300L  LoboMAgdE™m  35M0sbG0s:  s[:i] +  s[i:],
HMIJ0oE BHME0S s-0b.

>>> word[:2] + word[2:]

‘HelpA®

>>> word[:3] + word[3:]

‘HelpA’

09) 0bgdbo  5FsMdJOL  LEBHMoJmbol  LogMdgl, o0yo
598999530905 M0mgml BLEGHMOJMboL BLoMAOL GHMEo 0ymb. 0wy
D905 LBsDBPZM0 Bo3Wgd0s J399DY, IVMMBYdS FIMOJWO
LEOogdmbo.

>>> word[1:100]

‘elpA’

>>> word[10:]

”»

>>> word[2:1]

0609gLgdL 890degds 3Jmbgm Ms@ymaomo 360d3bgermdgdo
0D Poomzwolmgzol:

>>> word[-1] # dm@wm LoddME ™

A

>>> word[-2] # demUfjobs LoddmEMm

.00

P
>>> word[-2:] # dceom MO0 LoddMEM
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DA’
>>> word[:-2] # dcem MO0 LoddME ML Q5O
"Hel’
-0 003995, G153 0, 5699 56 2503 GdS dMEIMED.
>>>word[-0]  # ((59gbsc0s3 -0 030399, G55 0)
w
MoMymzomo  0bgdugdo  FM9gddo,  MHMIAWIOOE 3905
LOBO3MYO0IB, F8530Jds Mmomgmb obobo bmwols GHmeo
0ymb:
>>> word[-100:]
‘HelpA®
>>> word[-10] # d93mdss
Traceback (innermost last):
File "<stdin>", line 1

IndexError: string index out of range

5896900 BMbJiEos len() s06HY6gdL LEGHGOJMbOL LodMdgl:
>>> s = 'supercalifragilisticexpialidocious’

>>> len(s)

34

UGHM0gmbgd0 53mbiGHMR9d30 s 36 FYsergddo

S ='spam"s'
S ="spam's"
236360693190 30893MHMdYd0 - mdbabryMg LoddmeErmgdo
0MFgocwols  fob ol Loddmewm 't (6900LdogH
M930LGH®d0):.
S = r'C:\newt.txt'
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LEH®OJMbo 56 Fg0dEgds T3Pl F9d0MHYbgdmEo Ligngdols
LOFIMEMMO. 3505FY39GOL 2Bgdo:

S =r'\n\n\\'[:-1]

S=r'\n\n'+ "\

S="\\n\\n'

LEHOO0JMbgd0 Loy 53mEBHMBYdd0 56 3G FYoegddo

1533520 M FYoob Q5dMYy9bgdo:
>>> ¢ = "9l doe0sb oo
..bAH®0oJmbos, FHgduol
... 3605350 EM0JMb0s60 dermzo™
>>>C
'9b 5056 oo\nbiG®odmboo,
A9JGH0oL\nMSZ35BEBHOO0JMB0sBO derm3o'
>>> print(c)
9L doen0sb oo
LEHO0JMbos, BHgdbol
965350 bEHM0Jmbosbo derm 30

Usd5Be Mm39M30900 LBHMOJMb9dBY

306353905309 (893609d5):
>>> S1 = 'spam’

>>> 52 ='eggs'

>>> print(S1 + S2)
'spameggs'

LEHOOJMbol BdEOMmgds:
>>> print(‘'spam' * 3)

spamspamspam
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LEHOOJMbol Log™dyg - len gwb30s
>>> len('spam’")

4

0bggbBy fizcomds:
>>> S = 'spam’

>>> S[0]

ig!

>>> §[2]

!

>>> §[-1]

‘o’

>>> §[-2]

!

bA®0gmbosb 3ks3dgbHol s8mFs.
>>> s = 'spameggs'
>>> §[3:5]

'me’

>>> §[2:-2]

'ameg'

>>> 3[:6]

'spameg'

>>> g[1:]

‘pameggs'

>>> 8:]

'spameggs'
00x 0l JomomMgds FMHoL OHMU:

>>> §[::-1]
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'sggemaps'
>>> §[3:5:-1]

>>> §[2::2]

'aeg
16430990 s FgMm©Id0 LEBHBOJMb9dM l553wdsme

g439ws 3Bbd30oL ©@s dgomel dgwmderos dbmerm 894dbsl
sbaero BEMogmbo:

>>>§ = 'spam'

>>>s[1]="b'

Traceback (most recent call last):

File "", line 1, in
s[1]="d'

TypeError: 'str' object does not support item assignment

>>>s=5[0] +'b" +s[2:]

>>> S

'sbam'
UGHM0gmbg8056 3MTsmdol Bsgdoe009d0
1) 3606535 893F3L M LEMOJMBU:

name = "Tom"
surname = 'Smith'

print(name, surname) # Tom Smith
2) @G0 LAHO®ogmbo  Ao9MHMObEs s 99y 0893
39960056900 bBHodmbo:

name = "Tom"

surname = 'Smith'
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fullname = name + " " + surname

print(fullname) # Tom Smith

3) 0m390vw 36MHMYM535d0 LyFoMMS T903zM0dML bGModmbo s
Moiabgo. 98 d90mbgznzsdo  LosFoMms  Moisbgzol  4ooy3zsbs
LEHOO0JMbo str() BbJzool gsdmyqbgdoo:

name = "Tom"

age = 32

info = "Name: " + name + " Age: " + str(age)

print(info) # Name: Tom Age: 32
4) 259m0@5bL BH9JLEAL MO LEGHModmbs:
print  ("3bfsog3emd  python  gbs®g  ©I3MMYMsTgdL\n-
LEHOO0JMBIOMb FMTomds LoobEHgMglms")
3MbLMmebY godm3zs mMo LGMoJmbo:

3LHo3emdm python 9bsbg I3OHMYO5TgdL
LEA®O0JMbgdML FMomds LoobEgMglms

5) 39JuGHTdo  dOFgoegdol  sbobgobmgzol, dob Fob  ofgegds
3906bgdMeo bergdo:

print("Cafe \"Central Perk\"")

d909p0: Cafe ,,Central Perk®

6) LESH®0JmbydOL FgEocgds:

strl ="1a"
str2 = "aa"
str3 ="Aa"

print(strl > str2) # False, Go@ob strl - do 306390 Loddmem
GOBM0S
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print(str2 > str3) # True, Mosb str2 -do 30639¢0 LOTdIMEM

939005 H90LEG®d0s.
la<2?a. # True
aa<ba # True
ba<ca # True
X MOgLoS MO39 LBEHMOJMbO Y3560 0gbsL gOMbIOM
6920LGHOdo.
7) 360ma053580 LEGHMOJMbBYdO Yool JMMbI0E MgyolEBMYdTdo
5 bgds om0 Jgomgds:

trl = "Tom"

str2 = "tom"

print(strl == str2) # False - 56 5oL &mo

print(strl.lower() == str2.lower()) # True

8) ULE®ogdmbol  goblsbmgMmer  3mbBogosdo  LOTdMEMUL
3933300l 339w ™ds 0()393L 993MAsL:

>>> word = 'strength’

>>>word[2] ="y

TypeError: 'str' object does not support item assignment

9) LESH®OJmbTo LoTdMEM Tg33¢s Fgodengds d9dgao Laboo:

>>> word = word[:3] + "' + word[4:]

'stringth
10) LEHGogmbdo LoddmEMmL dgaaers 89godwrgds 9390
Lobomog:
>>> word = word.replace('!','e")
'strength’
11)sm3s bogds dmemmsb:

>>> word[-1]
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h
12) g6o Godob dMFgogdo bgdolbdogmo Bsdgbgds Lbgs
A030bL 36 Fysengddo:
>>> 123
'123'
>>>"7'8"9"
"7'8"9"
13) 20390 bGHMoJMmbgdo oymaowos Msdgbodg bofowsw
3906bgdo bergdood:
>>> s = 'this is first word\

and this is second word'

14) LEH®OJMbYdOl oo bs3Mgdo s Jmgwo  GHYJu@o
390d90s BoolZL 13Ty 06 FYoegddo:

>>> print """
One
Two
Three

15)855¢00030 2580mygqbqdmewos d8sMHm39w0 308)3MMdJd0:

>>> s ='a\nb\tc’'

>>> print s

a

b ¢
16) dspocmomdo LEBMoJmbo d9agds Lodo MoiEbzol dobstrmwo
9000936 MdOLYSD - MO0 G3M000 ©  9oHmo
09943L99EMd0MO:

>>> s ="\001\002\x03'
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>>> S
"\x01\x02\x03'
>>> len(s)
3
17) bB®ogdmbob FMmgdo:
>>> word = 'strength’
>>> word[4]
n
>>> word[0:2]
st
>>> word[2:4]
re
18) 36500 godm@HMm390E0s XJM 300390 boddmem, 9999y
- 99m69 LoAdMEOM:
>>> word[:3]
str
>>> word[5:]
gth
19) LEH®O0JMboB LoIdMEMgdol  F0dEI3MMdOL  SMRI3s
(303XMHMI00:
>>> s ='1234567890'
>>> §[::2]
'13579'
>>> 5[1:10:2]
'24680'
>>> g[:-1]
'0987654321'
20) bLEGH®0odMbgdOL ASTIMSZGdS:
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>>>'123'*3

'123123123'
20) LAHMOJMmbgdol  BMEOsBHOMYdS.  3OMEIbGHOL  FoMbbog
d0gmomgds  LEBModmbo, dsGx3bog - 96003b69¢omds b6

9600836900md50m5 Bs8Mmbsmgso:
>>> s = 'Hello %s' % 'world'
>>> S
'Hello world'
>>>s="one %s %s' % (‘two','three')
>>> 8

'one two three'

21) Gogbzol  LEHMOJMBIo  QosLvyY3zsbs  QodmygbgdE0s
603b300m0 1393013035G™M0 - %d 56 %f:

>>>s="one %d %f % (2, 3.5)

>>> S

‘one 2 3.500000'

22) dsgocwomdo  d9gaol  LEHMoJmbL  9dbgds  Log®dg 10
Loddme™, oo bsfodo gsdmymazowos 5 Loddmem:

>>>x =4/3

>>>'%10.5f" % x

' 1.33333'
23)  botgzgbgdo  Bocmbbosb  F9odwgds  IRMEOTsGHIL
Bmegdoo:

>>> from math import pi
>>>'%015.10f % pi
'0003.1415926536'

37



24)  Bogowomdo  gm®mTsGHoMmgdol;mzgols  45dmygbgdmEos
Template - bB©odmbgdoL FodEMbgdo:

>>> from string import Template

>>> s = Template('l $two 3 4 $five')

>>> d={}

>>> d['two']=2

>>> d['five']=5

>>> s.substitute(d)

'12345'
25) 439b&®0dmbols dgobs LEGHGmoJmbdo:

>>> s = 'The find method finds a substring'

>>> s.find('find")

4

>>> s.find('finds')

16

>>> s.find('findsa')

-1
26) join - 59M®05690L 9odmAymgzo bodboom ULE®modmbgdol
Bo30gdU:

>>> seq = ['one','two’,'three']

>>>sep=",'

>>> sep.join(seq)

'one,two,three'
27) split - oymxzb LEGHMOJMbL d0dY3MIMdS:

>>> s = '/usr/local/bin'

>>> s.split('/")

["', "usr', 'local’, 'bin']
28) replace - LEGHMOoJmbIo 9O J39LEGH®OJMbL Bssbs3gEdL
dgmegmo:

38



>>> s = 'replace method returns a string'
>>> s.replace('returns','return')
'replace method return a string'
29) strip - 9ol bo6zgbl BoMbbosb s Jsrx3600sb:
>>> ' this is whitespace string '.strip()
'this is whitespace string'
30) translate - 5390093l IGOZMdOM TY33SL. FoQoc0NT0
g39ws Loddmerm 1" dgogargds Loddmerm  F-0m, bemeom
LoddMe™ 27, 39033905 LOTdMEPMMO - 4
>>> from string import maketrans
>>> table = maketrans('12', '34")
>>>'1212 5656'.translate(table)
'3434 5656'
©535¢g0s 1
36305306  8903Hobgm  mMo  LEGHMOJMbo.  Qooge-
005690 0bobo. 49FMOMZgm A99MM0369dMEo LEBHMOJMbOL
Lo®dg. 3mbLMEDBY go8MmoEsbgm 499MM0569dwo LGModmbo
Q5 dobo bogMdy.
Q0535¢190s 2
dm399 BEGH®OJmbdo: "i'm Richard", Usbgero Richard
Boobo330gm mgagbo Lobgmom s s8modsbgom domgdmeo
LE®oJmbo.
©535¢190s 3
dm399 bEB®odmbdo: , Technology is everywhere, yet few
of us are in a position to take advantage of it“ 03mggo o
2990m0@ 9690 06@gduo, Loosbsg ofygds Lo@ygs: ,position®.

390009y §o0s¢gm ImEgdnee LEGHMoJmbdo yzgws bos®z9bBo s
3990396900 JoEgdwo bBHodmbo.
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@30MmM5GH MO0 Bsddom 4
0905: Logdo, 3MOGIsH0

559993539090 Ls30mbydo:
- Lool 2obLoBM3MY;
- 396530900 LOYdbY;
— 99000900 LogdMb LL¥TMT>M;
= 36O39s0L obloBzco;
- 306O3950L Bos QoMoJdbs;
- 396530900 3M6OEJ0L 9gdgbBgdby.
boob 8s35¢romo:
>>>a = ['spam’, eggs’, 100, 1234]
>>>a

['spam’, 'eggs’, 100, 1234]

ool  gem9d9bdgdbg Bodstogs, bool FGs, gsgE00s698s,
350(53¢m985:
>>> a[0]
’spam’
>>> a[3]
1234
>>> a[-2]
100
>>>a[l:-1]
[eggs’, 100]
>>> a[:2] + ['bacon’, 2*2]
['spam’, 'eggs’, 'bacon’, 4]
>>> 3*a[:3] + ['Boe!’]
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['spam’, ’eggs’, 100, ’spam’, ’eggs’, 100, ’spam’,
‘eggs’, 100, 'Boe!’]

ool goen392eo 9¢2989660b 8963¢75:

>>> 3

['spam’, ‘eggs’, 100, 1234]
>>>a[2] = a[2] + 23

>>>Qa

['spam’, ‘eggs’, 123, 1234]

>>> # 05996039 9argdgb@ol dgggws:
..a[0:2] =1, 12]

>>>a

[1, 12, 123, 1234]

>>> # (odgno”
..a[0:2] =]
>>>a

(123, 1234]

>>> # Bolbdo:
.a[1:1] = [’bletch’, 'xyzzy’]
>>>a

[123, "bletch’, 'xyzzy’, 1234]

>>> # 05308039 sberol BsLBs sLsfyolido:
>>>a[:0]=a

>>>a

[123, "bletch’, 'xyzzy’, 1234, 123, ’bletch’, 'xyzzy’,
1234]

Logdolmzol Bsdgbgdo 3Mbd30s len() 4odmygbgds:
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>>> len(a)
8

5896900 Logdo, ML 9B Bos Tgo33L Lbgs LosL:
>>>q = (2, 3]
>>>p=[1,q, 4]
>>> len(p)

3

>>>p[1]

[2, 3]

>>> p[1][0]

2

>>> p[1].append(’xtra’)
>>> P

(1, [2, 3, xtra’], 4]
>>>q

[2, 3, xtra’]

Lools dggabe:
a=|]

for i in range(1,15):
a.append(i)

Lools d9Jabo:
a = [iforiin range(1,15)]

ool d9943bs dg8mbzgz0m0 M0Eb300L 49696M0GMEM00):
from random import randint

1 = [randint(10,80) for x in range(10)]

Loob d9gabs Logdol g9gbgGs@EHm®ols d9d3z9mdood:
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>>> ¢ =[c* 3 for cin 'list']
print(c)
99g30:
['lI', 'iii", 'sss', 'ttt']
L0gdoL A969MGHMMOL MROM IO 3MbLEHOY0s:
>>>c=[c*3for cin 'list'if c I="1']
>>> print (c)
['11', 'sss', "ttt']

sort 990;Mo:

>>>1=(8,2,6,5,7]
>>> l.sort()

>>>1

[2,5,6,7,8]
0535@009d0:

>>>a = [66.25, 333, 333, 1, 1234.5]
>>> print(a.count(333), a.count(66.25), a.count('x"))
210

>>> a.insert(2, -1)
>>> a.append(333)
>>>a

[66.25, 333, -1, 333, 1, 1234.5, 333]

>>> a.index(333)
1
>>> a.remove(333)

>>>a
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[66.25, -1, 333, 1, 1234.5, 333]

>>> a.reverse()

>>>a

[333, 1234.5, 1, 333, -1, 66.25]
>>> a.sort()

>>>a

[-1, 1, 66.25, 333, 333, 1234.5]

3535¢0mgdo: LogdoL 3gddbs, dgaas, §sdes s 39Fsmds Lools

9€9396(%900236
bos  Jgodegds  8904absl  BIIMMZO™edsb  gPm-9M0
bgtboon:
>>>a =]
>>> type(a)

<class 'list'>

>>> b = list()

>>> type(b)

<class 'list'>

Loob d9g4a6s (obolifo® dm39999co dmbsgdoms bszMgdom:

>>>a=[1,2,3]

>>> type(a)

<class 'list'>

1339 56LYdMYo ool sbigrols d9ddbols bgdbgdo:
>>>a=1[1,3,5,7]
>>>b = al:]
>>> print(a)
[1,3,5,7]
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>>> print(b)
[1,3,5,7]

56 9godangds sbgs:
>>>a=[1,3,5,7]
>>> b = list(a)
>>> print(a)
[1,3,5,7]
>>> print(b)
[1,3,5,7]

a boo dg3eom b Loss 9033w gds:
>>>a=[1,3,5,7]
>>>b=a
>>> print(a)
[1,3,5,7]
>>> print(b)
[1,3,5,7]
>>>a[l]=10
>>> print(a)
(1,10, 5, 7]
>>> print(b)

[1, 10, 5, 7]

939999 35350000030 LosL 9BsBgds 9e9dgb@o:
>>>a =]
>>> a.append(3)
>>> a.append("hello")
>>> print(a)
[3, hello']
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LooEsb  gEgdgbBHOL  sTMYIds  remove(x)  IgMEOL
399mygbgd000:

>>>b=[2,3,5]

>>> print(b)

(2,3, 5]

>>> b.remove(3)

>>> print(b)

[2,5]

Loob 9w 9d9bEGHOL 9MYYds dolo 0bwgduol Jobggzom:
del bools_bobgero[obgdLo]

>>>c=[3,5,1,9, 6]

>>> print(c)

[3,5,1,9, 6]

>>> del ¢[2]

>>> print(c)

[3,5,9, 6]

999963 900L (odes del dds69gd0L 25dmygbgdom:
>>>a
[-1, 1, 66.6, 333, 333, 1234.5]
>>> del a[0]
>>>a
[1, 66.6, 333, 333, 1234.5]
>>> del a[2:4]
>>>a

[1, 66.6, 1234.5]

ool 9w9d9b@Hol  360d369mdol  dgi33ers dobo  0bgdlols
dobggzom:
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>>>d=12,4,9]
>>> print(d)
[2,4,9]
>>>d[1] =17
>>> print(d)
[2,17,9]

ool golixmogqds dobo bggrobsgro 0booserobgdoom:
>>>a=[3,5,7,10,3,2,6, 0]

>>> a=(]

ool dMEm gargdgb@bg §3mIobmzol Asdmyqbgdreros
156MHYm530m0 0bgdLo:
>>>a=[3,5,7,10,3,2,6,0]
>>>a[-1]

0
Lo0sb J3gbool Fowgds:
>>> a[1:4]
(5,7, 10]

95g9womdo bgds ool dmermdo gargdgb@ol sds@gds.
09039 M3965305 990d¢gds gberegl sbga: allen(a):] = [x].

>>>a=[1,2]

>>> a.append(3)

>>> print(a)

(1,2, 3]

38MHMMZ9OL 5OBYOIE LOSL b LoD yz9ws 9egdgbEol
59353900l 3bom. 993035 gbEHMM0s dGMIsbgds: a[len(a):] = b.
>>>a=[1, 2]
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>>>b =[3, 4]
>>> a.extend(b)
>>> print(a)
(1,2, 3, 4]

X 9w99963L Roligodl i 3mBoE0sdo. 30M39w0 MHAbEo
5ol gargdgb@ol 0bwgdlo, GMmIwol d9dayoa Booldgds x
9gdgbBo:

>>>a=[1,2]

>>> a.insert(0, 5)

>>> print(a)

(5,1, 2]

>>> a.insert(len(a), 9)
>>> print(a)

(5,1,2,9]

0500l x 9e999bEH 0l 306M39e Jgbzesl Loosb:
>>>a=[1,2,3]

>>> a.remove(1l)
>>> print(a)
(2, 3]

pop() 3dgomo (ool 9wgdgbBlL 900000900
3mH03000 5 odMoGbl Tol. vy 5HAMTIBGHO 96 SMOL
90001900 (o0dEgds Lool dcmem gargdgb@o:

>>>a=][1,2,3,4,5]

>>> print(a.pop(2))

3

>>> print(a.pop())
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5
>>> print(a)

(1,2, 4]

clear() fodeols Loosb Y39 9w 99963)L.
993035 96& 05 99990l del af:]:

>>>a=][1,2,3,4,5]

>>> print(a)

[1,2,3,4,5]

>>> a.clear()

>>> print(a)

[]

506bBgdL 9ergdgb@ol 0bggduls:
>>>a=][1,2,3,4,5]

>>> a.index(4)

3

306MMbgdl  domomgdero  ggdgb@ol  Fgbgesms
50 9bMdsL bLosdo:

>>>a=[1, 2, 2, 3, 3]

>>> print(a.count(2))

2

50590l ool gargdgb@gdl BMEOMdO):
>>>a=1[1,4,2,8,1]

>>> a.sort()

>>> print(a)

[1,1,2,4,8]
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LSl goossgdL 49329900 )3OMI0m:
>>>a=1[1,3,5,7]

>>> a.reverse()

>>> print(a)

(7,5, 3, 1]

50619690l Loob SbEL. gd3035gbEmEMmos gdgaol: al:].
>>>a=[1,7,9]
>>> b = a.copy()
>>> print(a)
[1,7,9]

>>> print(b)
[1,7,9]
>>>b[0] =8
>>> print(a)
[1,7,9]

>>> print(b)
(8,7,9]

4360bL Lol Imgero MoiEbzgdoLsh 0-sb n-0g, Lowss n
605 90 9bmm Fobsbiffo6:
n = int(input())
a=|]
foriin range(n):
a.append(i)
print(a)
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0,1,2,3,4,5,6,7]

fobs  0mddgogds  Fgodegds  Bsofghml  meé™
35MGH035005(3:

n = int(input())

a = [iforiin range(n)]

print(a)

56 300093 MROM oMEGH0350, 08 Jgdmnbzgz5d0 ) 0g396
9930 5056 206050 n-ob 2odmyqbgds:

a = [i for i in range(int(input()))] 89335J43L MoEbz0;

print(a)

0b9dLgdo s FMgdo

Loob 993963 bg 808smm35 0bgduol Jobgz00.
>>>a=[1,3,8,7]
>>> a[0]
1
>>> a[3]
7
>>> a[4]
Traceback (most recent call last):

File "<stdin>", line 1, in <module>

IndexError: list index out of range

dogoewomdo  Lool  gw9gdgbBgdby  dodsOm3z0Lmz0L

3990g9690w05 Momymzomo 0bwgdugdo.
>>>a=[1,3,8,7]
>>> a[-1]
7
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>>> a[-4]

1

>>> a[-5]

Traceback (most recent call last):
File "<stdin>", line 1, in <module>

IndexError: list index out of range

L0gdOLM30L FMH9doL AsdMYgbgdos:
>>>a=[1,3,8,7]
>>> a[:]
[1,3,8,7]
>>>a[1:]
(3, 8,7]
>>> a[:3]
[1, 3, 8]
>>> a[:2]
1, 8]

Y39ws gl 3565990 990dgds 0gmb MoMHYmBomO:
>>>a=[1,3,8,7]
>>>a[:-1]
[7,8,3,1]
>>> a[:-2]
[1, 3]
>>> a[-2::-1]
(8,3, 1]
>>> a[1:4:-1]
[]
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oM dogocwomdo  JoEgdos  3oMogwo Lo,
5909650053 START < STOP, bmgom STEP 99569maz0000.
03039 3mb9ds, 09 3609369 Mmdol 0535BMbO 5BMBRbEds
000990l LoBEOZMGOL AoG90:
>>>a=1[1,3,8,7]
>>> a[10:20]
[]
F6M900L LM YO0 GergdgbEol sTs3Yds s Hodgms:
>>>a=[1,3,8,7]
>>>a[1:3] =0, 0, 0]
>>>a
[1,0,0,0,7]
>>> del a[:-3]
>>>a
(0,0, 7]
©535¢90s 1
9 39999o0s bos: cars = ' BMW', 'Mercedes', 'Ford']
399039690 ool 3060390 9gagdgbEo; odmoEebgo ool
oMM 9w9dgb@o.
Q535¢0dS 2
©535¢90s 1-d0 dm39999c Losl osdsEgor: 'Audi’
535¢0gds 3
Q©535¢0905 2-d0 300gdwe LosSL sBsBgon 'Mitsubishi' d9-3
5QRAOMSU.
Q©535¢n9ds 4
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Q535905 3-d0 00 LOOEID Q09399  FMGdO o
Bobo33egds 89000980 306Xd9d00):
5300090 ool 30639W0-MmMo 9E9d9bE0;
590090 39159996 HYgdIo Lool ygzgws 9egdgbd)o;
99m6) 9ergdgbho 8gazowrge bb3s grrgdgbdoom.
Q0535¢ngds 5
9399990 MO0 LooB oMY A99MP0sbYdMEO Los:
first =['a, 'b’, 'c']
second =['d', 'e", 'f']

Q©O35¢09dd>
©535¢»9ds 6
9399990 Bs39b90emo Los:
Company = [
'‘Apple’,

['Samsung', 'Huawei'],
"'Windows'
]
399039690 LOMEs Loo;
399035690 Loolb 306390 9egdgbEo;
2990356900 Loob dmMEIM 99963 0;
3°900@96g0 Losdo Bsdgbgdaro ool 30639wo gargdgb@o;
39900356900 bLosdo Bs3gbgd o ool Igmeg gegdgb@o.

Q0535¢9ds 7
93999905 Loos:
Presidents = ['Kennedy', 'Nixon', 'Clinton’', 'Bush’, 'Obama']

5490096 doowgm dgayo:
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Kennedy
- Nixon
Clinton
Bush
Obama

ga &~ W N -
1

535¢0gds 8
9m3930s bos:
d=1[2,4,12,5]
3950m{jdg0 990l v 565 (33000 4 53 Bosdo s vy dgob
39900396900 GgL505d0L0 J9BHYmd0bgds.

Q0535¢90s 9
39499600 Los, MMIgeog 993L9d0Iemos 1-sb 10-8¢g
Bo@mMowmeo Gogbgzgdom

0535¢mgds 10
93990 boddols dobgz00 sHgMgm 3mo, OHMIgwos
Q553969006 90L s 590U [-20 20] 89950906 15
d90mbggz0m GoEbaL.

535¢mgds 11
50960900 36OHMYM59s, OG0 999abol o 49dMOBIBL Loosl:
[2,4,6,8,10,12,14,16,18,20]

©535¢09dd 12
9 39999w0s boa:
a=[2,-2,4,-4,7,5]
5J90sb  doowgm b Los, MmIgoz  dgoaqds a  Loob

999963H900b 3350653 Jd0LYH.
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©535¢mg0d 13
dm3gdmos Los:  [3,9,2,7,5,8,12,10] o590 3¢0900L
dobg3zo00m.
3™OGJH0

3O G930 (tuple) dg06Mg BMIoBss LOSLMSL FgsMGdO:

>>>a=(1,2,3,4,5,6)

>>>b=[1,2,3,4,5,6]

>>>a._ sizeof ()

36

>>>b.__sizeof ()

44

39O09wo 306G g0L 99Jbs:

>>> a = tuple() # tuple() BRs39bgdmo gmbJzool
QbdoMm9000

>>>a

0

>>>a = () # 3mOE9F0L WO BHIMWOL IHTsMYdIOM

>>>a

0

>>>

306 G90L 994365 9000 9egdgbEoLsb:

>>>a=('s')

>>>a

'g!

0oa®sd o dogogm  LEH®odmbo. Bz36  430bMs
3Mm6OGJH0L dogds, Golm3oLys 3mo d9dgabsoMs Mbs
50{9OHMU:
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>>>a=('s",)
>>>a
('s’)
30090 0dbs 3mMEgs0.
306 G970 990degds 90dabols sbgs:
>>>a='s,
>>>a
('s’)
3M6OGgg0L d9ddbs 0GHgM0MgdMmo Mmd0gdBHoEsb tuple()
53bJ300L 999mygbgdoo:
>>> a = tuple(‘hello, world!")
>>>a
(h','e, T, 1,%, ", ", 'w, o, 'r, ', 'd, 'T")
9ogoomdo BsbL, M 3mMEH90lL 9egdgbEgdols T3z
56 d90dqdo:
>>>b=(1,2,3)
>>> print(b)
(1,2,3)
>>>b[1] =15
Traceback (most recent call last):
File "<pyshell#6>", line 1, in <module>
b[1] =15

TypeError: 'tuple' object does not support item assignment

390090 306 Eg70L 89Jdbols Jsgoer0mgdo:

>>>a=()

>>> print(type(a))
<class 'tuple'>
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>>> b = tuple()
>>> print(type(b))
<class 'tuple'>
3O E970L 99943bs tuple() 3«mbdizooo:
>>>a = tuple((1, 2, 3, 4))
>>> print(a)

(1,2,3,4)

300Ggg0L  9egdgbBHol 330w gdol  I3EIEmdoLsl
9000905 d93Mas:

>>>a=(1,2,3,4,5)

>>> print(a[0])

1

>>> print(a[1:3])

(2,3)

>>>a[l]=3

Traceback (most recent call last):

File "<pyshell#24>", line 1, in <module>
a[l]=3
TypeError: 'tuple' object does not support item assignment
(3@39Iwo  9gdghGHoL  fodws  3mOAYgosd 0dwgzs
3930MasL:
>>>a=(1,2,3,4,5)
>>> del a[0]
Traceback (most recent call last):
File "<pyshell#26>", line 1, in <module>
del a[0]

TypeError: 'tuple' object doesn't support item deletion
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300l Bnosbo Fodwo: del a

Loob 3O Gggdo 2ooy39bs:

>>>Ist =[1, 2, 3, 4, 5]
>>> print(type(lst))
<class 'list'>
>>> print(Ist)
[1,2,3,4,5]
>>> tpl = tuple(Ist)
>>> print(type(tpl))
<class 'tuple'>
>>> print(tpl)
(1,2,3,4,5)

3060 39:0L BLOs® Q9MOJabo:

>>>tpl = (2, 4, 6, 8, 10)

>>> print(type(tpl))

<class 'tuple'>

>>> print(tpl)

(2, 4,6, 8, 10)

>>> Ist = list(tpl)

>>> print(type(lst))

<class 'list'>

>>> print(lst) #[2, 4, 6, 8, 10]

5dmMB935 dBoX00):
numbers=(0,1,2,3,4,5,6,7,8,9, 10, 11, 12)
print(numbers[1:11:2])
(1,3,5,7,9)
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©535¢9ds 1
93999905 Bos S 3MOGJs0:
a = (10, 2.13, "square", 89, 'C")
>>>b =1, 2, 3]
Los 2oM5ddgb0m 30MHEJFI© O 3MOE IO LS, F9FMOEB)S6gm
09092900 ©5 ©@OHINbom, MMI  goMsddbs  LmMo
39l QS.
Q0535¢90s 2
dn3gdmos  3mOG0,  Omdgeog  d9o3ogb  Lbosb.
3933509 Lools dgmMg gargdgb@o 15-000 s 2sdMoESBgm
30QgdN0 3OGIIO.
nested = (1, "do", ["param", 10, 20])
©535¢09ds 3
9m39999wo0s MO0 3MMEHIH0. 359Mm0Eebgm  499M0569-
00 3MOG 90!
a=(1,)
b =([1,2,3], 'word')
QO35¢09)dS 4
93999905 MO0 3m6OE 0. tupl-sb sdmogm 30639wo
9999630, bmwm tup2-sb  Igmeg-0gbmomg gargdgb@gdo o
399m0@sbgon:
tupl = ("physics’, 'chemistry', 1997, 2000)
tup2=(1,2,3,4,5,6,7)

©535¢n9dd 5
dm39do  3mOE9F0b  doomgm  3mOEGgg0  Igbody
9w999630b o6939:
tupl = (1, 2, 3)
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©535¢0g0ds 6

0o85¢gom dm 3930 3mmEH 950 LEOYIES:
tup = ('physics', 'chemistry', 1997, 2000)
Q0535¢9ds 7
939999 3695700 I0MZOEgm 1-900L MromEabmds:
t=(1,2,7,1,6)
0535¢g0ds 8
9399 306 GJ930 03390 MoEb3o 7-0l 0bgdlo:
t=(1,2,7,1,6)
Q0535¢90s 9
9m390Mwo 30603 Jg0Esb  sdmopgm  ymgzggmo  dgmey

99896 o0:
p=(2,5,6,8,9,2,1,2)
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53MM5E MO0 LsdmIsm 5
0995: gdlozmbgdo (dictionary)

5155899853909¢00 Ls3z0mbgdo:

- @9Jb03mMbols gobloBMzms;
- boob 2o6msddbs ergdlozmbsco;
- 3965330900 9dlozmbol 9e9gdgbEgdby;
- 3m33wgdueHo wgdbozmbgdo;
— 99000900 9gbo3Mmbgdmsb Lsddome.
990202600 356Ls bmgtob dsgseromgdo:
users = {1: "Tom", 2: "Bob", 3: "Bill"}
elements = {"Au": "mg®m", "Fe": "®306s", "H": "{gocmdso”,
"O": "g9bg05000"}

9sgomomdo  9gdlozmbols, MmamOmE AoLOMdgd0, 1939
96039369cmd9d0 bbgsslibgs BHodol sGol:
objects = {1: "Tom", "2": True, 3: 100.6}

390090 gdlozmbo 9egdgbEgdols gocgdy:
objects = {}

56 sbg:

objects = dict()

ool g36Mqsgdbs ¢rgdlsozmbs

dsgoomdo 9m399os ool Qs6ogdbs wgdlozmbo

dict() Bsdgbgdyo BMBJ300L obIIMGBOm.  (3OW3IYEO
B539690meo Los 89905 MM0 9wgdgbEHolash -  3oM3zgwo
9999630 2obgds golisegdo, bagrm dgmeq - 3603369 mds:

users_list = [
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["+111123455", "Tom"],
["+384767557", "Bob"],
["+958758767", "Alice"]
]
users_dict = dict(users_list)
print(users_dict) # {"+111123455": "Tom", "+384767557":
"Bob", "+958758767": "Alice"}
890930:
{'+111123455": 'Tom', '+384767557': 'Bob', '+958758767"
'Alice'}
O6BMmI0g30560 3O 950l gocrsgddbs wgdlozmboco:
users_tuple = (
("+111123455", "Tom"),
("+384767557", "Bob"),
("+958758767", "Alice")
)
users_dict = dict(users_tuple)

print(users_dict)

92989634 0L s8mEgds, gzws
9dbogmbob 9egd9b3gdbg H3MoL BMYsO BMMTs:
dictionary[key]

9dbogmbosb  gagdgbBol 3600369 mdoL  5MgdS
3oLsgdols dobgz0m:
users = {
"+11111111": "Tom",
"+33333333": "Bob",
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"+55555555": "Alice"}
# 3000000 993963L golowgdoo "+11111111"
print(users["+11111111"])  # Tom

9w9996¢3)0L 36033690 Mdol ©Y9bgds goliswgdoo "+33333333":
users["+33333333"] = "Bob Smith"
print(users["+33333333"])  # Bob Smith

300900 A5LOPGO0m GgdgbEol 3603369 Mds 56O
503mBbY, 580EH ™8 dmbgds oo Esds@Hgods:
users|"+4444444"] = "Sam"

36003690md0l  d0gdol  I3EIWMds QoL gdom,
3903 56 5OHob gdlolzmbdo, 259mo@sbl Tg3masl:
user = users["+7777777"] # KeyError

9gdbo3mbdo golivegdols sOLYdMdOL Hoboslfomo T9dmdgds
key in dictionary 0mbobojengdom. vy 20bomgdo  sGob
9gdbozmbdo, 35806 IMEg8MeEo 4odmbsbmgds S86Mw6qdL True
960036900md5L:
key = "+4444444"
if key in users:
user = users[key]
print(user)
else:

print("9e93d9bEo 56 500l bsdmgzbo")

9w9d9b@oL dowgds get(key) o get(key, default) dgomgdoon:
key = "+8888888" # 25L500900 56 560 9dlozmbdo
user = users.get(key) # 506bgdl None

print(user)
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d9090: None
user = users.get(key,"Unknown user")#50619690b Unknown user
print(user)

d9090: Unknown user
96989630 (fodgms

2dlo@gdol  dobgzom  9eqdgbEHol  Godws  del
™3965GHMO0m:
users = {
"+11111111": "Tom”",
"+33333333": "Bob",
"+44444444": "Alice"
}
del users["+44444444"]

print(users)

99396(0b {jo8wsdEg dmEgdnwo yobogdoo gergdgh-
Aol 5MLYdIMOOL F9dmfdgds:
key = "+44444444"
if key in users:
user = users[key]
del users[key]
print(user, "(od¢g005")
else:

print("9agdgb@Ho 56 560l 6s3mgbo")

993gbBHob 59wy  pop(key) @9 pop(key, default)
9900 qd00m:

users = {
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"+11111111": "Tom",
"+33333333": "Bob",
"+55555555": "Alice"
}
key = "+55555555"
user = users.pop(key)#{58@ol 5 o3dGMEJdL Foderow 9e9gdgbEHL
print(user) # Alice
user = users.pop("+4444444", "Unknown user")#9¢9396¢0 56 s5Gob

print(user) # Unknown user

439s 9agdgb@Hob Fodws clear() 3gom@ob godmygbgdoo:
users.clear()

@9J503Mbol 3M306Pds S #59MN06gdS

copy() 3900mOo 53m306MgdL gdlozmbol d9dsybermdsls
Q5 506MbBgdL sbsEw gdlogmblL:
users={"+1111111":"Tom","+3333333": "Bob","+5555555":
"Alice"}

users2 = users.copy()

update() 9dgomoom  users qgJbozmbdo Bogdo@gds users2
9gdbogmbo. 58 OML users2 MHBYds EIWYS:

users = {"+1111111": "Tom","+3333333": "Bob","+5555555": "Alice"}
users2 = {"+2222222": "Sam","+6666666": "Kate"}
users.update(users2)

print(users) # {"+1111111": "Tom", "+3333333": "Bob',
"+5555555": "Alice", "+2222222": "Sam", "+6666666": "Kate"}
print(users2) # {"+2222222": "Sam", "+6666666": "Kate"}
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dogocmomdo m®03g Lsfyobo @gdlozmbo Mhgds ME3rgEsQ,
bomEom 25900569008 990930 046905 IgLsdg ergduiozmbo:

users3 = users.copy()

users3.update(users2)
9gbo3mbols gosMhg3S
qgbo3mbob QosMbgz0Lm30L for 3030l godmyqbgds:

users = {
"+11111111": "Tom",
"+33333333": "Bob",
"+55555555"; "Alice"
}
for key in users:
print(key, " - ", users[key])

899p0:
+11111111 - Tom

+33333333 - Bob

+55555555 - Alice

998963900l g5@oMBgz0L Lbgs bgmbo, items() dgmemool
209myqbgdo0:
for key, value in users.items():

print(key, " - ", value)

B39 3oLOMgdOL  A5aMBg3s keys() dgomeols godmyqbgdoom:
for key in users.keys():
print(key)
99020
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+11111111
+33333333
+55555555

dbmem@ 86083690mdol  4osboMhg35 values() dgomob
399mygbgds:
for value in users.values():

print(value)
3033egdLy®o ggdbozmbgdo
5896900 wgdbozmbo:

users = {

"Tom": {
"phone": "+971478745",
"email": "tom12@gmail.com”

3

"Bob": {
"phone": "+876390444",
"email": "bob@gmail.com”,
"skype": "bob123"

}

5396900 wgdlozmbol gwgdgb@HHg dodsermgs:
old_email = users["Tom"]["email"]

print(old_email)

99020
tom12@gmail.com
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3d6003690md0l  domgdol  J3IWMds  AdsLOMgdoL
dobg30m, OG0 96 SMHOL gdlozmbdo:
tom_skype = users["Tom"]["skype"] # KeyError

9930M30L 5300096  SLOE0W PO  gdlozmbdo
39U 9d0L 5OLYOdMOOL T9gIm{[0gds:

key = "skype"
if key in users["Tom"]:
print(users["Tom"]["skype"])
else:
print("skype is not found")
0535¢09d0:
9gdbo3zmbob 8943bs o EH Mol ILTsMGOOM:
>>>d ={}
>>>d
g
>>>d ={'dict": 1, 'dictionary": 2}
>>>d
{'dict": 1, 'dictionary": 2}
9dbozmbob 894dbs dict gbd00L obdotgdom:
>>> d = dict(short='dict', long='dictionary")
>>>d
{'short': 'dict’, 'long": 'dictionary'}
>>>d =dict([(1, 1), (2, 4)])
>>>d
{1: 1, 2: 4}
9gdbozmbol 894dbs fromkeys dgomm@ol sbds®gdom:
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>>> d = dict.fromkeys(['a’, 'b'])
>>>d
{'a": None, 'b": None}
>>> d = dict.fromkeys(['a’, 'b'], 100)
>>>d
{'a': 100, 'b": 100}
9dbozmbol  d94dbs  9dlozmbols  g9bgEsEMMgdoL
©obdsMgd0m,  MOMIgoo3  dogosb 335656  Logdol
396965GHMEOOL:
>>>d ={a:a ™ 2 for a in range(7)}
>>>d

{0:0,1:1,2:4,3:9,4: 16, 5: 25, 6: 36}

qdbogmbdo  Bsbsfgmol  ©odsBHgds s Adobomgdol
360083690™md0ol sdmemqds:
>>>d={1:2,2:4,3:9}
>>> d[1]
2
>>>d[4]=4"2
>>>d
{1:2,2:4,3:9, 4: 16}
>>>d['1']
Traceback (most recent call last):
File ", line 1, in
d['1’]
KeyError: '1'
OMaMOE 85250m0b BBL, sboen 4oloMgdHg 8oboFgds
3BIOMMZ90L 9JLo3MbL, sOUYdIM ASLIMGdDY ToboFqds Aol
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29005509ML 36093690 MdL, brmerm  sGIOLYOME0  AoLIMGOOL
50905 0dg3s 993MAsb.
535¢ngds 1
9m393eos gdbozmbo:
a={'cat: '35@s', 'dog': 'dooo’, 'bird": 'boo’, 'mouse’: 'ms230'}
3990356900 HMIGer0dg 3609369wMds olsgdols dobgwzom
Q©535¢190ds 2
535905 1-80 9mEgdne  @gdubogmbl  @ssds@Hgo  sboero
90999630 9 259M0Esbgo do0gdIeno wgdlozmbo
©535¢09ds 3
fPobs  ©@iz35mgdom  FoEgdMr  gdlogzmbdo  dgE3swgo
3600836900mds 4oL gd0L dobgzom.
Q535¢09ds 4
Do0ogom 9MOHm-9OH ™m0 9gdgb@o s godmo@sbgo dowgdwo
wqdbogmbo
QO35¢09dd 5
9 39999wo0s wgdbozmbo:
nums = {1: 'one’, 2: 'two', 3: 'three'}
5)39900356900 FbMmEM@© 25L50Gd900;
0) 259m0@&5bgm dbmerm 36083690 ™dqd0;
3) 399Mm0Esbgm 25L509d900 s 3603369 MdgdO BHoMgmo
399YgMz30e0 9OHTobgmoligsb.

©535¢9dS 6
93999905 B539690mw0 wgdbozmbo:
dict={
"11111": {

"name": "Salome",

"group": "108121",
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2
"22222": {
"name": "Akaki",
"group": "108122",
"phone": "2323433"

}
390Mm03bgo 300390 wgdbozmbob 93900,  bmwm
396956 - xams0.
3990356900 30603906 Egegnmbo.

Q©535¢n9ds 7

93999905 Mo gdbozmbo:
dictl = {"000001": "g6Moo0","000002": "m®o","000003": "Lsdo",
"000004": "mm»bo"}
dict2 = {"000005": "bwyo0","000006": "9J3bo", "000007":"830000"}
d000Mgm 99005693 wo  wagdbogmbo, oly ™I ™Mogz9

9m393o sMRYL YE3LILO.

535¢»90s 8
3935390 H0obs 3500 FoYOMEIO Y5gMH 06740 O
9dbozmbo s 99sdmfdgo.

clear(), copy(), fromkeys(), get(), pop(), popitem(),
setdefault(), update() 9gocmgdols 359mygbgds

9dbozmbgddo

Q©535¢n9ds 1
9 3999wos wgdbozmbo:
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a={'cat: '35@9s', 'dog": 'doo’, 'bird": 'bo@0’, 'mouse”: 'ms30/,
‘elephant’: 'b3ogom'}
0o8segm  @gdlogmbol yzgws gwgdgbGo s  edmo@sbgo
dogdmeo ggdbozmbo.

Q0535¢dS 2
9399905 wgdbozmbo:
nums = {1: 'one’, 2: 'two', 3: 'three'}
©53m30609m  dm39dmo  @gdbogmbo. 330690l
©935@ g dgmmbg 9gdgb@o, Fobss®losb A5dm0bsmy.
39900@9Bg 5300300390 Wgdlogmbo s TG JOIMO
wqdbogmbo.

©535¢09ds 3
dm3gdmwos bos: a = [1, 2, 3]
494996000  m3gdmwo  LBoosb  @gdubogmbo,  GMIwol
909396900 06905  2oLoMgdgdo. 258moGEsbgm  FJowgdero
wqdbogzmbo.

Q535¢09ds 4
535905 3-80 dmEgdmeo LBoosb dgddgboo gdlozmbo,
MMAol  golowgdgdo  0dbgds  Loob  gwgdgb@goo, bmerm
360083690md900 10-0b GHmero.

©535¢n9dd 5

9 3999wo0s wgdbozmbo:
nums = {1: 'one’, 2: 'two', 3: 'three'}

299Mm0Ygbgm Jglodsdolo Gg0MEO S odmoEebgo MHMIgEr0dy
9939630 golivwgdol dobggzom.
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©535¢19dS 6
9399905 wgdbozmbo:
nums = {1: 'one’, 2: 'two', 3: 'three'}
5)  Polsegm  wgdbozmbosb  MmIgwodg  9w9dgbGo
d000mMYOIEro  4oLOMgdoL  dobg3z0m @5 399mo@sbgom
900900 gdbogzmbo.
0) (odoergm  mogzobvgeero  ggdgbBo s  29dmodebgm
80@gdEo gegdgbdo.

Q©535¢09ds 7
9 39999wos wgdbozmbo:

nums = {1: 'one’, 2: 'two', 3: 'three'}
559539 qdbozmbdo ge9dgb@o s©0bodbmwro Igmm©om s
399035690 JoEgdwo gdiozmbo.
535¢»90s 8
9 399Mwos wgdbozmbo:
nums = {1: 'one’, 2: 'two', 3: 'three'}
Q5535390 gJLo3zmbL Lbgs wgdbogzmbo, doy: {6: 'six’, 7: 'seven'}
3990356900 dowgdmwo wgdbozmbo

74



53MM5E MO0 Lsdmdsm 6

0935: LoIMS3EY
5155899853909¢00 Ls3z0mbgdo:

- LOIMOZEPOL AIBLOBEOIMY;
- M3965330900 BOIM3gDY;
- LodM53wgms IMEOHOL ©HTIMI0WYIIGdS;

— frozen set ¢ogo.

LodM53eOoUl g5blsBEgMS

LodMogewrg  (set) 0909250  3o8mo@sbl  dbmwm
mb6035¢06 8603369 mdHdL:

users = {"Tom","Bob","Alice", "Tom"}

print(users) # {"Tom","Bob","Alice"}

set  gbd3ool  @odmyggbgds  (39M09wo  LoIM3OL
d9L5gdabgarso:

users = set()

LoIMS3oL  LoAMAOL  ASBLIBL3IMOLm3oL len() Bsdgbg-

00 13bdool godmygbgds:
users = {"Tom","Bob","Alice"}

print(len(users)} # 3

9999963900l ©58539ds LodMsgEgdo

00mM  99d9bGHol  obodoBdgdws add() dgomol
2450myqbgds:
users = set()
users.add("Sam")

print(users)
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9030
{'Sam'}
9egdgbGgdob ffodews
dopdoeomdo remove() dgom©O  45dmygbgdIeos gHmO
9w9g396@0lL  Holodrgws®. gargdgbBHol  9MMLYGdMdOL
d90mbgggzsdo d930maoL 593969006 9d0l 0530056
SbOE0EgdWs©  (odwsdg in M3gMIGHMO0m d93mfdgdmeEos
90999630l 5MLYdMdS LOIM3egdo:
users = {"Tom", "Bob", "Alice"}
user = "Tom"
if user in users:
users.remove(user)
print(users)
89w0p0:
{'Bob’, 'Alice'}
99996¢¢0b Hobisdenguaco discard() dgomols 259mygbgds,
MOMdgwog 96O 9396900090l Jg30mdsl  gargdgb@ol 96
3OL9dMBOL EOMUs:
user = "Tim"

users.discard(user)

gzgms  9agdgb@ol  folodergmo clear()  dgomeol
209myqbgds:

users.clear()

bodMs3ol 355MBRY3S
999963H900b 35slaMbg35¢ for (30300l godmygbgds:
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users = {"Tom","Bob","Alice"}
for user in users:

print(user)

390056MBg30LL 3390 9wgdnb@o Asbmogligds user
33w5do.
390530900 LoIM3egdDY

copy() dgoom@om ghmo bodMmsgwrol 9dsygbermdols
bbgs (335000 ©s3M3069ds:
users = {"Tom","Bob","Alice"}
users3 = users.copy()
6039 LoIMSZWOL QodmEsbom I3M(dMbrgdom, GMJ
users Qo users3 99o03o3L 9H0o0x039 99996 IOL:
print (users)
print (users3)
9030
{'Alice', 'Tom', 'Bob'}
{'Alice', 'Tom', 'Bob'}
union() 9goOMPO  5JOPMOL6IIL MO LOIMVZEGL
506bBgdl sbog LodEMsgwql:
users = {"Tom","Bob","Alice"}
users2 = {"Sam","Kate", "Bob"}
users3 = users.union(users2)
print(users3)

390930
{'Kate', 'Sam’, "Tom', 'Bob’, 'Alice'}
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intersection() 9gomEOm  LOIMOIWGMS  Mbs33900L
39653008 JgbOHEgds. 9909390 F00Mgds sbsEro LoMSZWY:
users = {"Tom","Bob","Alice"}
users2 = {"Sam","Kate", "Bob"}
users3 = users.intersection(users2)
print(users3)
890930+
{'Bob'}
intersection 890™@obL bogzwro 99odegds 2sdmyqbgdwyen
09658 @ My0399M0 458M53WGIOL M39MOE0s:
users = {"Tom","Bob","Alice"}
users2 = {"Sam","Kate", "Bob"}

print(users & users2)

9000905 0039 3909y0:
{'Bob'}
LodMS3oL LbgsMdol dowgds difference() dgom@oom 6
399030900l M3gME000:
users = {"Tom","Bob","Alice"}
users2 = {"Sam","Kate", "Bob"}
users3 = users.difference(users2)
print(users3) # {"Tom", "Alice"}

print(users - users2) # {"Tom", "Alice"}
1509653 gms IMMOL Es0M30EIDYEYdS

issubset() 99PM©O v5YIBL 9GOl M G5 F0dEObsMY
LodM3eng b3 LOIM3OL J39L0TMS3Y:

users = {"Tom", "Bob", "Alice"}
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superusers = {"Sam", "Tom", "Bob", "Alice", "Greg"}
print(users.issubset(superusers)) # True

print(superusers.issubset(users)) # False

issuperset() 9dgmmEoO, 3oModom, S0MHMbgdL True, v
90906569 LoIMs3g F90(393L J39LOTMSZegls:
users = {"Tom", "Bob", "Alice"}
superusers = {"Sam", "Tom", "Bob", "Alice", "Greg"}
print(users.issuperset(superusers)) # False

print(superusers.issuperset(users)) # True
frozen set $odo

frozen set - LOIMO3OL 030, GMIgWoE 5O FJodgds
d90335¢ml. ol dgloddbgero  @odmoygbgds  frozenset

33bJ30o:
users = frozenset({"Tom", "Bob", "Alice"})

5835¢m00980 bodtsz0cm998Yy:
LodGmsgzeols 994dbs:
>>>a =set([1,2,3,4,5])

>>>a
{1,2,3,4,5}

390d90s LOIMSZOL BSHGMS 2odoM 303980 BMOTOm:
>>> b ={1,3,5}

>>> b

{1, 3,5}
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LodM 3ol 89dbs:

>>> a = set()
>>>a

set()

>>> a = set('hello")

>>>a

{lhl, IO" Yll’ lel}

S>> Qg = {lal, lbl, ICI’ ldl}

>>>a

{lbl’ 'CI, lal, IdY}

>>>a={i™ 2 foriin range(10)} #0353 g0 3969M5GHMM0
>>>a

{0, 1, 4,81, 64,9, 16, 49, 25, 36}
>>>a={} # gl o6 dgodegds!
>>> type(a)

<class 'dict'>

LodMS3g 396 90bsbagl MG gOHMbI0M 9egdgbR:

>>> set([1,1,1,2,2,2,3,3,3,4])
set([1, 2, 3, 4]) #{1,2,3,4]

>>> set("hello")
Set(['h" lel’ |]-l, lol]) # {lhl, lel, lol, lll}
359290mTo I 39305 LoIMHZ3EOL Jo(39ds for (303¢do:
a=set([1,2,3,4,5])

80



foriin a:
print (i)
89@90:

BN W N =

5

LodMO3g  499MYgbgdME0s 458gMEMYOIPO JEgd9bEgdols
Dolbodmgsco:
>>> words = ['hello’, 'daddy’, 'hello’, 'mum']
>>> set(words)
{'hello’, 'daddy', 'mum'}
frozenset 359mygbgdol Jogoer0mo:

>>> a=set([1,2,3,4,5])
>>> b = frozenset([1,2,3,4,5])

>>>a==Db
True
>>>a.add(6)
>>>a
{1,2,3, 4,5, 6}
b.add(6)

Traceback (most recent call last):
File "<pyshell#67>", line 1, in <module>
b.add(6)

AttributeError: 'frozenset' object has no attribute 'add'
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9399 doaocomdo oo 4oMEs0ddbgds LodMezw g,
boeom  9g0amd  LodMO3g  AMH0Jdbgds  Losw.  Mob

890039053 L03MIZEY  FoMZOLYBL OIS YBLWOMYOO
99396 900Lgob:

>>> Ist = ["a","c","b","c","c","d","g","d","e","a","g","f’,"b"]

>>> Ist

['a', lC', 'b', 'C', 'C', 'd', 'g', ’d', 'e', 'a', 'g', 'f', 'b']

>>> newlst = list(set(Ist))

>>> newlst

[Ial, lC" lbl’ lel’ ldl’ lgl, lf‘!]

a s b LOIMH3ggdOL FogMH0HYdY:

>>>a=[1,2,4,5,7]
>>>b=[2,3,4,5,6,7,8,9]
>>>a

11,2, 4,5,7]

>>>b

[2,3,4,5,6,7,8,9]

>>> set(a)|set(b)
set([1,2,3,4,5,6,7,8,9)])

LOIMHZGMS QOTMIYd:
>>>a
[1,2,4,5,7]
>>>b
[2,3,4,5,6,7,8,9]
>>> set(a)-set(b)

set([1])

>>> set(b)-set(a)
set([8, 9, 3, 6])
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LOIMIZ3EgMS MIbS3Z3gMs:
>>> set(a)&set(b)
set([2, 4, 5, 7])

LodGMogergms  LodgGHMowo  bbgomds.  sd6MH9bqdls
9w99963GHgoL,  MHMAWooE 96 0339390050 49399
LodM3g9ddo:

>>> set(a)”set(b)

set([1, 3, 6, 8, 9)])

dogoewomdo  dmfjdgds ghHmo  LodM3eol  gargdgb@o
d90b v 565 gMm©9do, BoJBHMIM0350 9HMO BOIMSZEg SGOL
099 565 99Ol §39L0MZY:

>>>a=set([1,2,3,4,5,6,7,8,9]) #1-0sb 9-009 bo@MMoy&O
6oEb3900L LodMH3Y

>>> b = set([3,4,5,6,7]) # 3-56 7-00g bomMowrmeo
6o3b3900L LOIMH3eY

>>> ¢ =set([3,5,7]) # 3, 5 o 7 Hobggool Lodmsgary

>>>a

set([1,2,3,4,5,6,7,8,9])

>>>b

set([3, 4, 5, 6,7])

>>>C

set([3, 5, 7])

>>> e = set([3,5,7,9,0])

>>> d=set([9, 3, 5, 7])

>>>e

set([0, 9, 3,5, 7])

>>>a

set([1,2,3,4,5,6,7,8,9])

>>>b
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set([3, 4, 5, 6, 7))

>>>a>b

True

>>>b>a # "a" 96 sGob "b" -l J39L0IMs3g

False

>>>b

set([3, 4, 5, 6, 7))

>>>C

set([3, 5, 7])

>>> c>b

False

>>>b>c # "c" 560l"b"-b J39L0dMegery

True

>>>a>c # "c" s6ob"a"-l §39b0dMmsg3g

True

>>> a>b>c # ¢" 9ol "b" o "a"-U J3gLlodMmsgzerg, "b" sM0OL
"a"-b 439Lb0dMs3Y

True

>>>a

set([1, 2, 3,4,5,6,7,8,9)])

>>>C

set([3, 5, 7])

>>>d

set([9, 3, 5, 7])

>>>a>d>c #True
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Asboems 296a3gmGMgdolomgzgols
10900, 3MOGJI0, gJlozmbo, LodMsgery

10gdoL B5g5¢009d0:

append() - gengd96@G ol sds@gds

>>>a=[1,2,3]
>>> a.append(4)
>>>a

(1,2, 3,4]

pop() - 9e09396¢@ 0L Fo8ems s Fodgromols odm@sbs

>>>a=[1,2,3, 4]
>>> a.pop()

4

>>>a

(1,2, 3]

>>> a.pop(0)

1

>>>a

[2, 3]

>>>a=[5, 8,4, 3]
>>> sorted(a)

[3, 4,5, 8]

>>>a

[5, 8, 4, 3]

>>> a.sort()

sort() - bLmGEH0MYdS
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>>>a
(3, 4,5, 8]
reverse() - ¥319900¢093MMI0 5390
>>>a =[5, 8, 4, 3]
>>> sorted(a, reverse=True)
(8,5, 4, 3]
>>>a
(5, 8, 4, 3]
>>> a.sort(reverse=True)

>>>a

(8,5, 4, 3]

353moygbgo B1bJ30gdo - sum, min, max
3MOE970L I585¢0009d0:
96033693900l 35M3egmmmMo 30bo Fgds:

>>> x, y =3, 5

>>> %,y

(3, 5)

9603369 md9d0L go33es:
>>> %, y =y, x

>>> %,y

(5, 3)

32639730 890353L BEH®OJmbU, Losls s 3MGOEJs:
my_tuple = ("mouse", [8, 4, 6], (1, 2, 3))
print(my_tuple)

390!
(‘'mouse’, [8, 4, 6], (1, 2, 3))

my_tuple 306&g300056 Lools 306390 gangdgb@ol gsdmdsbs:
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print(my_tuple[1][0])
8
Count() dgormqo
my_tuple = ('a,'p,'p,'1','e")
print(my_tuple.count('p'))
890030
2
Index() gm0
my_tuple = ('a,'p,'p,'1','e")
print(my_tuple.index('1"))
390930
3
in m396M5305
my_tuple = ('a','p",'p",'1','e")
print(‘a’ in my_tuple)
990930
True
print('b' in my_tuple)
390930
False
03 9M530Ie0 35dmE)9bs
for name in ('John','Kate'):
print("Hello",name)
390930
Hello John
Hello Kate
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@gbo3mbols dsgseromgdo:

@99db03mb0gs6 gzgems 9ergdgbEHol 3sdm@sbs mMo bgdboo:
cars = {

'‘BMW': 'x5',

'Mercedes-Benz'": 'E220',

'Audi’: 'Q7'
}
for key in cars:

print ("%s -> %s" % (key, cars[key]))
print( '-' * 15)
print ('2 3535¢000")
print ('-' * 15)
for key in cars.keys():

print ("%s -> %s" % (key, cars[key]))
890920:
BMW -> x5
Mercedes-Benz -> E220
Audi -> Q7

BMW -> x5
Mercedes-Benz -> E220
Audi -> Q7
del d6ds6905

dict = {'Name": 'Zara', 'Age": 7, 'Class": 'First'}
del dict['Name']
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dict
{'Age": 7, 'Class": 'First'}

dict.clear()

4

del dict - o0l 0B gdlozmbu.

copy() dgomo
Dict = {'Tim": 18,'Charlie":12,"Tiffany":22,'Robert":25}
Boys = {'Tim": 18,'Charlie':12,'Robert":25}
Girls = {'Tiffany":22}
studentX=Boys.copy()
studentY=Girls.copy()
print(studentX)
print(studentY)

update() dgomo
Dict = {'Tim": 18,'Charlie":12,"Tiffany":22,'Robert":25}
Dict.update({"Sarah":9})
print(Dict)
d9g30:
{'Tim": 18, 'Charlie: 12, "Tiffany": 22, 'Robert'": 25, 'Sarah': 9}
items() dgom@o

©9gb030b0s6 Foogds 3006 EJ9d0LYb Tgygboro Los:
Dict = {'Tim": 18,'Charlie":12,"Tiffany":22,'Robert":25}
print("Students Name: %s" % list(Dict.items()))

990930
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Students Name: [('Tim', 18), ('Charlie', 12), ('Tiffany', 22),
('Robert', 25)]

0959m{jdgdl Dict ¢rgdlozmbol 3se3gmeo gamgdgbdo g0l
o) 505 Boys ¢rgdliozmbdo s g359mo@sbl 9glisdsdolsgo: True sb
False

Dict = {'Tim": 18,'Charlie":12,"Tiffany":22,'Robert":25}
Boys = {'Tim": 18,'Charlie":12,'Robert":25}
Girls = {'Tiffany":22}
for key in list(Dict.keys()):
if key in list(Boys.keys()):
print(True)
else:
print(False)
d9w0p0:
True

True
False
True
sort() - ergdbogzmbols emMEHoMgds
Dict = {'Tim": 18,'Charlie":12, Tiffany":22,'Robert":25}
Boys = {'Tim": 18,'Charlie':12,'Robert":25}
Girls = {'Tiffany":22}
Students = list(Dict.keys())

Students.sort()
for S in Students:

print(":".join((S,str(Dict[S]))))

d9©930:
Charlie:12

Robert:25
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Tiffany:22
Tim:18
LodGmogary

LodMsgerols 99Jabs:
items = {"arrow", "spear", "arrow", "arrow", "rock"}
items
{'arrow’, 'spear’, 'rock'}
59m{jdgol (gzMo mvy sGol LodMsgergdo:
if "rock" in items:

print("Rock exists")

89ga0:
Rock exists

if "clock" not in items:

print("Cloak not found")

89@930:
Cloak not found

o016 LodMsgerols 9gJabs
numbers = set([10, 20, 20, 30, 40, 50])

print(numbers)

3d9©930:
{40, 10, 50, 20, 30}

adds, discards, removes 3g0m©gdo

3909w LodMS39To gergdgbEgool oTsEHJOs:

items = set()

items.add("cat")

91



items.add("dog")
items.add("gerbil")
print(items)

99020
{'dog', 'cat’, 'gerbil'}

discards s removes JdgmmEYd0m LOAMSZgEsD Fodsgrgom
00mM 9engdgb@o.

issubset(),issuperset(),intersection() 39070qgd0
numbersl = {1, 3, 5, 7}
numbers2 = {1, 3}

if numbers2.issubset(numbers1):
print("Is a subset")

89@930:
Is a subset

if numbers].issuperset(numbers2):
print("Is a superset")

39©930:

Is a superset

print(numbers].intersection(numbers2))
890930+
{1, 3}

union() 9gomeoO
setl ={1, 2, 3}
set2 = {6, 5, 4, 3}
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set3 = setl.union(set2)
print(set3)
890930+
{1,2,3,4,5, 6}
frozenset() LodMsgeng
person bLOIMH3gL frozenset LOIMSZEOL J9Jdbo:
person = {"name": "John", "age": 23, "sex": "male"}

fSet = frozenset(person)

Lo0Qsb frozenset LodMs3ol G94dbs:
mylist = ['apple’, 'banana’, 'cherry']

x = frozenset(mylist)

frozenset LodMO3gdo (33€0EGdOL Jg@sbs 0dEg3s g3 MTsls:
mylist = ['apple’, 'banana’, 'cherry']
x = frozenset(mylist)

x[1] = "strawberry"
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505G MO0MeE0o Bsdwdscm 7
099s: Bbdi0900
5155899853909¢00 Ls3z0mbgdo:
- g996J30ooL 49bLsbBE3MOL LobEsJLo;
- gbgd300L 35659930930 M0l golisowgdmemo bodyzgdo;
- 35650936900 Mo 0m;
- gbg305 bLbgo@albgs Mom©gbmdol stymdgbEoo;
- gmbdgos  Lbgoslbgs  ©om©gbmdol  2obomgdIMo
56396 GHom;

- g3bd309 sLvdMMBIdgo 360336 mdom;

- 330l bggzol s69;
— lambda(),filter(),reduce(),map() gv9b9;309%0.

BbJgool gsblsbmzmol LobEsduo

3Bg305 MBoG5TgGHOM:
def a_function():

print("You just created a function!")

33964305 356599EHMgd0m:
def my_function(argument):
print (argument)

my_function("abracadabra")

53bd309 56 Fgo3o3L 3MU:
def empty_function():
pass

B6J30s 00gdL MG sGMdgbEls
def bigger(a,b):
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ifa>b:
print (a)
else:
print (b)
53MBJ 300U 369G o 259mdobgdss:

bigger(5,6)

33164300l 5653mM9gJBH M0 459mMdobgdss:
bigger()

bigger(3)

bigger(12,7,3)

3505393900 3Gl 3olsrgdMmo Lo@ygzgdo
def person(name, age):
print (name, "is", age, "years old")
sbgo  890mbgazs5d0  73bd300l  godmdsbgdolisls  3oGmsdg@mob
0300M05L 36033690 Mds 565 593U:

person(age=23, name="John")
3565993 M9d0 ©doEoo

39bLoBOZOME0s space gwb3os:
def space(planet_name, center="Star"):

print (planet_name, "is orbiting a", center)
space 53v1bJ;300L 459mdsbgds 990dwgds 99dga0 Laboom:
space("Mars")

dogd Mo 899a0:
Mars is orbiting a Star

space 53v1bJ;300L g99mdsbgds 990dwgds 99990 Lobomsg:
space("Mars", "Black Hole")
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dorgd o gegye:
Mars is orbiting a Black Hole

11969305 Lbgsslbgs Gam©gbmdol sGwdgboo - *args

def unknown(*args):
for argument in args:
print (argument)
5) unknown g3bJE0s 300093l ME sGOYMIGDE:

unknown("hello","world")

8900390 ©¥93©3L MM0Z9 LOGAYZSL.

0) unknown gvbJ30s 3000OL b sGYMIGbEL:
unknown(1,2,3,4,5)

09©93°©  @o093o3L  Y3gws  Gogbgl, Fdw3gNl  sbowo
LEH0JMb0sb.

3) B8996J305L 96 200593995 5Md9bEo:

unknown()

53Bg 309 5M6RIOL 56 09 FO3L.

3bg30d Lb3s@alibgs Mom©gbmdols 3olsmgdw®mo sMymdgbEHoom
- **kwargs
def many(*args, *kwargs):
print( args )
print( kwargs )

many(1, 2, 3, name="Mike", job="programmer")

39©930:
#(1,2,3)

# {'job": 'programmer’, 'name": 'Mike'}
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return 35bs0gdMo Lo@YzoL 459mygbgds Bmbdiosdo
def bigger(a,b):
if a>b:
return a
return b
dogoewomdo  BsbL, Mmd dbgogh Fgdombggzsdo Lodygzs else
390d9ds 563 o8Mm309gbmo.

33%oL d0g5603mm bigger 13+96J300l dgg0:
num = bigger(23,42)

33o©ob bggol 56

BRMBYOO (LR, WMIHRYHO (3RO
age = 44 # MOS0 (33CP9QOO
def info():

print (age) # Q5093o3L age 3emdY6 (33005
def local_info():

age = 22 # Jobob gom3owe age (33¢0o©L

print (age)
info() # 90933l 44
local_info() # qo093o3L 22

1969300l Jogbom umdsMo gmbJizool dglsgawrgumso
global 25bs0gdHo Lo@yzoL gsdmygbgds

LB YOO (3EWORO

age =13

# 3630 330l YL MBI O 3¢
def get_older():
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global age

age +=1
print (age) # 993o3L 13
get_older() # MHOL age (33¢o©L 1-0m
print (age) # 093qs3L 14

23bJ305 00030l @ H0MHY67dL num (33eSEOL BoJEBHMMOSEUL:
def fact(num):
if num == 0:
return 1

else:
return num * fact(num - 1)

lambda() 396309

lambda() 964305 359m0ygbgds dod0b, HmEaLsa LoFoMms
3960LsBEzOML BbJ30s def func_name(): o69dg.
func =lambda x, y: x+y
func(1, 2)
3
func('a’, 'b")
'ab'
d90d9ds sl Roofgemmls:
>>> (lambda x, y: x + y)(1, 2)
3
>>> (lambda x, y: x + y)('a’, 'b')
'ab'

98



filter() g«bd309

2930 H3Ms  bgds filter  gybJsz0sdo  dm3gdmero
306Md0L dobgzom:

number_list = range(-5, 5)

less_than_zero = list(filter(lambda x: x < 0, number_list))

print(less_than_zero)

899g30:

(-5, -4, -3, -2, -1]

reduce() 3wbJizos

53bg309L 89deros Fgoliermeml d3mEe30 o3MmmM3Egd0

96356900 dmd93bm fyz0mgdoliomzols Logddo.

dongo Hobzgdoligsb 99960 Lool bodMmsgEols godmmgws:
from functools import reduce
product = reduce((lambda x, y: x * y), [1, 2, 3, 4])
print (product)

reduce 5900005693l M599b0d9g Loosls:

reduce(list.__add__, [[1, 2, 3], [4, 5], [6, 7, 8]], [])
d9090: (1,2, 3,4,5,6,7, 8]

map() 86gJgos

map() 896Jgos 00Ol MG SOHYMIGBGBHL, 306390 SO

53bd309, MMIgEog gsdmyqbgdmmo 0dbgds ool o 3go
909396EH0LM30UL, Igmeg - Loss, MMIgErog Mbws Ws3MTs3IL:
>>>m=[1,2,3,4,5,6,7]

>>> list(map(lambda x: x**3, m))
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35290mTo BMbd(300 pow 09Ol MG sMAIIBEL GO 3gmEo
359t dobgdolsls:
>>> pow(3,5)
243
>>> pow(2,10)
1024
>>> pow(3,11)
177147
>>> pow(4,12)
16777216

300U 35Ls35MEH039dw s map() B3w96J300l godmygbgde:
>>> list(map(pow, [3,2, 3, 4], [5,10, 11, 12]))
[243,1024, 177147, 16777216]

535¢g0s 1
3949960  M3oGTgBHOM  gbd30s,  GMIgos ™G
6oabgzbg dgobeargdls 63doldoge Mm39MoE0sl. godmodsbgom
53Mbg 300 s 39dM0 BBy J9g0.
Q0535¢190s 2
394096000 3565393900560 FMbJ30s, MHMIgEoi 03m3z0L
™6 6MHogbgl dmcol  MEoELL. Asdmodsbgom  BMbd30s o
3990356900 890920.
©535¢190s 3
9940960 gmbdios  Lsdo  3oMdg@BHeom, obg  OmI

3965393HMgd0  0gml  4oLo0gdMMo  LoEY3900.  ASTMOdSHg,
53Mbd309 3560539@ 900l BgdoldogMo GogoMMdOm.
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©535¢nds 4
394996000 RbJE0s MO0 356589EHM0m, LdsE JOHM-9MMNO
356599300 3boso 0946905  FoMdmygboo. as8modsbgo
53Mbg309: 9P 3560589GHM00 O MO 356539EHOO.

Q0535¢ngd5 5
39499600, aMbd00 Lbgoolibgs 50 96Md0L
3565993HM0m. 259m0dsbgo 0g0: bmmo Lbbgoalbgs Moibzom,
Lsdo Bbgsslbgs Lodyzoom.

©535¢»9ds 6
39499600 1Mbd300 Lbgoolibgos 65096mdol
3oLOEIOMO0  3oMgBHBOm.  godmodsbgm 0o mmbo
356589@®0m: 33560, LobgE0, 85YdOL Fgero, sbs3o.

QQ535¢ngds 7
399m0dsbgo Im3gdmeo 3bd309d0. 03Mm3900 dg3mMaoL
90D9bHo. goslfimEmgo s JgolMEgo 3OrMYEMSTs.
def function_a():
a=1
b=2
return a+b

def function_b():

c=3
return a+c
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53MM3E MO0 Lsdmdsm 8

o9gds: Gogbgzomo dsloggdo
(NumPy 30d@0omm930l go8cmyg9bgds)

559993539090 Ls30mbydo:
— 3536030 gobloBrz®s;
- 95¢)®030b 9egdgb@Egdols s3853909;
- 95¢®030b d93L905 9OMbs0MO 9egdgbEgdoo;
— 095b0g0l doegds arange() BwbJgoom;
— 9503909 ™MIYBH0INWO M39EM5(30900;
- g3bd30900 3503906 LL5FMFoMm;
— 35030l 2o6Mm5Jabs dMEHYGEo Lsboo;
—  9sbogol gm®dol d933ws;
— 9503900l 459M00569d5;
- 656DMm30gd0560 dsloggdol hoydeo
3969653 MGM9d0.
3s¢®o3EoL 3oblobmgz®o
9 (39999w0s 4 x 3 F5GHMOEOL Bog5omOo:
matrix = [[-1, 0, 1],

dm3gdmno  m39MsG™MEOO  990dwgds  sofigcml
LEHOoJmbso:

matrix = [[-1, 0, 1], [-1, 0, 1], [0, 1, -1], [1, 1, -1]]
953030l godm@sbs  gho  LEHModmbs  Fgodegds
M3965GHMOOm:
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print(matrix)
89ga0:
[[_1_: Or 1]; [_1: Ol’ l]r [Or 1!’ _l]r [1f lr _1]]

3@MOEoL  49dm@sbs b0l  Losbom, Lowss 1 —
LEH®OJmbol bmdgMos, j — b3gEoL bmdgmos, beogom len(matrix) —
LEHO0JMbgOOL MoMmEIbMBdsS BoMo35d0:

def printMatrix ( matrix ):
for i in range ( len(matrix) ):
for j in range ( len(matrix[i]) ):
print ( "{:4d}".format(matrix[i][j]), end = "")
print ()
53MBJ 300U g8 dabgdom ©o0d9Fgds Jo@GGMOES:

printMatrix ( matrix )

A

-1
-1

.

1

1
1
-1
-1

=

35BH®o3ol  aodmESbol  dgmeg  bgdbo. oM  303Wo
390300l 5BMo30L LGHMOJmbgdbg (row), beaenm dos 3030
39030l 35¢39990 LBM®OJmbol 9egdnbEgdby (x):
def printMatrix ( matrix ):
for row in matrix:
for x in row:
print ( "{:4d}".format(x), end = "")
print ()
953030l 060(30500Hgds Tgdmbgzgzomo Moibzgdom:
matrix = [[0, 0, 0],
[0, 0, 0],
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[0, 0, 0],
[0, 0, 0]]
import random
for i in range(4):
for j in range(3):
matrix[i][j] = random.randint ( 30, 60 )
print ( “{:4d}” format(matrix[i][j]), end = “")
print()
890930L 9H-gHM0 G060
53 40 &0
46 55 38

57 38 38
ed 45 &0

35030l gengdgb@gdols sdwdsggds

matrix[2][3]-05@®Mogol dgbsdg LEGMoJmbol dgmombyg qewgd9b-
A0sS;
9530 30L 9engdgbEgdols bodcmsgerols godmmaems:
matrix = [[-1, 2, 1],
[-1,3,1],
(2,1,-1],
[1,1,-1]]
p=1
for i in range(4):
for j in range(3):
p *= matrix[i][j]
print (p)
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dsB®oEol 9w9396¢3)9d0L X500l 299Mm3y,
UEAHOOJMbgOOL  XsTol  godMbOMZWIWs©  39TMYgbgdME0s
LGobsd GO sum gmbdisos:
s=0
for row in matrix:
s += sum(row)
print (s)

3s¢®o30L d93L9ds ghmbso®mo gargdgbdgdom
dsLbogols byergdoo dg3Lgds:

import numpy as np

a = np.zeros((3, 5))

print(a)
89gp0:
[[ . @. @&. . @.]
[ 8. ©. ©. ©. @a.]
[ 8. @. ©. @. @.]]

3000905 9H056900L56 F9a9b0E0 MMO ToBMO3s:
import numpy as np
a =np.ones((2, 2, 2))
print(a)
990730

1.
1.
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3o¢®ool 894dbs, HMIols osgmbocnbg s6ob 1-9d0:
import numpy as np
a=np.eye(5)
print(a)

399p0:

[[1. @

[ @. 1.
@.
@
@

[ L U
[ e v

s I I o
[ I T o R s R s
= & & @
P R Y

]
dsbogols  d9dbs d93Lgdol 9969 8g.  Lsfyobo

090500996mds  F9dmbggzomos s ©IIMIOIONIC0S

99bLbogMHd0L IEYMI>MIGMdsDY dslilogols gddbols mdgb@do:

import numpy as np

a=np.empty((3, 3));

print(a)

9900000

[[ ©.ere000002+000
[ 6.92943079-31@
[ 6.92943796e-310

.92043707e-310  5.92943878e-310]
.928943786e-318 .929437862-310]
.92043706e-310  4.68846127e-318]]

(=31
[ay]

(%31

(%3]

dsliogols doegds arange() Bwbjgoom
5) g Hobgms dsliogols domgds:
import numpy as np
a=np.arange(20, 50, 5)
print(a)

do@o30: -
[28 25 3@ 35 48 45]
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0) 659030¢ MoEbzms dsliogols Jowgds:
import numpy as np

a=np.arange(0, 2 ,0.3)

print(a)

399p0:
[E!l. 8.3 8.6 B.9 1.2 1.5 1.8]

351503909 57 YBH03I0 M39MHS30900

import numpy as np
a=np.array([20, 30, 40, 50])
b=np.arange(4)

print(a+b)

print(a-b)

print(a*b)

d9930:

[20 31 42 53]
[20 29 38 47]
[ @ 3@ 8@ 150]

sum, max, min g-96Jgogd0
import numpy as np
a =np.array([[1, 2, 3], [4, 5, 6]])
print(np.sum(a))
print(np.max(a))
print(np.min(a))
890920:

107



21
G
1

95030l 09335 3808 I3MMBOM

import numpy as np

a=np.array([ 0,1, 8, 8, 8, 8, 8, 343, 512, 729])
print(a[::-1])

d9g30:

[729 512 343 8 8 8 8 8 1 @]

35L030L 2965Jdbs dMEYgEro Lsboo:
import numpy as np

a=np.array([[ 0, 1, 2],

[ 10, 12, 13],

[100, 101, 102],

[110, 112, 113]])

print(a.ravel())

39©930:
[ 5] 1 2 186 1z 13 186 18l 1e2 1l1& 112 113]

dsiogols gm@Iol 9933w
import numpy as np
a=np.array([ 0, 1, 2, 10, 12, 13, 100, 101, 102, 110, 112, 113])
a.shape=(6,2)
print(a)
890920:
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[[ & 1]
[ 2 18]
[ 12 13]
[100 101]
[182 110]
[112 113]]

ds103g00b 959Mm05690s vstack s hstack()
import numpy as np
a =np.array([[1, 2], [3, 4]])
b = np.array([[5, 6], [7, 8]])
print(np.vstack((a, b)))
990020

[
[
[
[

Lo LN ) I Ny ]

{54 J R R O
[ N S -

]

import numpy as np

a =np.array([[1, 2], [3, 4]])
b = np.array([[5, 6], [7, 8]])
print(np.hstack((a, b)))

3d9©930:
[[12 5 8]

[3 4 7 8]]
6356Bmd0@gd0560 Isliogzol Es3ds3900L o500
93999905 MmMHR6BMI0Egd0sbo dsbogo nxn. IMegsM
03By dgdady  §o3mgdl (08  afi]lj]  9egdgbEgdL,
HMI95mM30L53 i==j ) 00g9bo3ml 960d3bgcrmds 1,
99396390, HMIG003 IEJISMGMDID F935M0 OsRMbIEOL
993000 909b03Fmb - 360d3bgemds 0, bmerm  9wgdgbEHgol
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3053500 Oosgmbocrol Jggz0om dogbodml - 36500369 mds 2.
9525w0mo@ n==4 LsN30L Mbs dogzomm dsliog0:
1000

2100
2210
2221

3ob30bowmm  53m3sbols  s8mblbol  Msdgbody  bgMbo.
993963900, GH0I9do3 9009056996 0053500
O053Mbools oy gl ool ali][j]  9wgdgbgdo,
OMIYMIM30Ls3 i<j, bmwm 8m350M0 ©osymbocrol  J39o
9w99963H900bmM30L 1>j. 538356(5, 990dgds FJ35MM™M 1 9 j
36003690md900 @5 doom dobgzom ob3LsBL3O™o  ali][j]
3600836900Mds5. 3030000 §9900930 SO T0:
n=4
a=[[0] * nforiin range(n)]
foriin range(n):
for j in range(n):
ifi<j:
a[i][j] =0
elifi > j:
ali]fj] = 2
else:
alillj] = 1
for row in a:

print(' ".join([str(elem) for elem in row]))
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ImEgdnw  s@wymOomddo  Go@3gNwo  gergdgbHoL
obOIMTo390o©  bs TGOl gomo b mMo if
0bLAHOMJ30s. M 4935MMMEGd0  SERMEOHOMAL  F90dEgds
0530 53560Mm 306Md0L 0bLEGMWJ30sL.

05305300395  99353LMm®» 093500  OSRMbIWO,
HoLMZ0LsE3 IR3FOMIOS YOO (303¢00:
for i in range(n):

ali][i] =1

d99pmd 993538m» 0-90000 yz9ws gargdgb@o dmogs®o
053mbeol Bgz0m, MHOLMZ0LOE IP3FOMPIOS (3500390
LEHogdmbolimgol 1393 oL 0bgduo 033w gdmEL: j=i+1, ..., n-1.

53obm30L s33F0MIdS B5YTMO (303W900:

for i in range(n):
for j in range(i + 1, n):
ali]j]=0
3b5ErMaomEe® 3560390  9wgdgb@GHgdls  860dgbgmds  2-U,
bosg j=0, ..., i-1:
foriin range(n):
for j in range(0, i):
ali]fj] = 2
3900905 29359MH056Mmm 69 (3030900 s B030090M 3093
960 30835dBHv96 580boblbl:
n=4
a =[[0] *n for iin range(n)]
for i in range(n):

for j in range(0, i):
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ai]fj] = 2
aliJli] =1
for jin range(i + 1, n):
ai][j] =0
for row in a:
print(' ".join([str(elem) for elem in row]))

3900090 smMomdo 094gbgdl Logdol  As6dgmEmgdol
39653056 Lools 8m3936m LEBHMOJMbOL SbYds. ool i -MHo
LEGHMoJmbo J9gds 1 Momgbmdol Moibgo 2 -Ligsb, 9999y
dmob gMmo - Moibgo 1, 3989y 30 - n-i-1 Gogbgo 0:
n=4
a=[0]*n
foriin range(n):

ali]=[2]*i+[1]+[0]*(n-i-1)
for row in a:

print(' ".join([str(elem) for elem in row]))
(3030 890d¢9ds 8933350 Mmo 3969M5GHMEM00:
n=4
a=[0]*n
a=[[2]*i+[1]+[0]*(n-i-1)foriinrange(n)]
for row in a:

print(' ".join([str(elem) for elem in row]))

M956%B™30gngd0sbo IsLoggdol Bswadmero
3969Ms@Mm®gd0
3969053H™m®o  Jdbol n  9w9dgb@BH0sb Losl, MMIEol

BoW39o 9egdgb@Gos m Momgbmdol 0-Lysb dgggboero
Loo.

m=3
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n=5

[[0] * m foriin range(n)]

99©730:

(o, o, o1, [o, o, 01, [0, O, O], [0, O, O], [0, @, O]]
59 MHML Jos Los sMgm39 90dgds G90ddbsl Fogow0MoQ,
3190 2969M5GHMEMOLYD:

[0 for j in range(m)].

96m0 2969M5@MmMoL Igmegdo Poyadom doomgds boydwo
3969653 MGM9d0:

[[0 for j in range(m)] for i in range(n)]

Moibzo 0-b 9933395 M50dg 25dmMLsbrmegdom, HMIGEo3
©59M300900s  bLAHOMogmbols s  L3gBHOL  bmIgHBY.
90300900 (15039 BMOHINwom Jg3b9de LosL.

9525W0mMO, 33065 J0300Mmm 9090 dsliog0:

000000O0

012345

0246810

03691215

04 8121620

50 3sbogdo n = 5 LEG®OJMbL, m = 6 b3gAL, bmErm 9EgdxbEHJdO
2399M0m3egds BmOIMoo: afi][j] =1"j.

sbgmo dsbog0b Fgloddbgers godm309gbmo 29696MsE™Eo:

[[i*j forjin range(m)] for i in range(n)]
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©535¢9ds 1

5dm39bo:
93999905 Bsdo BEAHMEYbEHOL Fgx3olgds 4 Lygsbdo FbGMOEOL
Loboon:

LAMEIbGHO | Logobo 1l Logobo 2 | Logobo 3 | Logobo 4
LEMgb@o 1 22 18 25 17
LEHM9bEO 2 11 21 18 23
LAHIbEO 3 24 16 22 15

dm3gdmo  sbMowo, Fomdmoygbowo mMysbbBMmIowgdosbo
dsL0g0L LEbo® odMOYMgds 99dYBI0MS:
m([0,0]=22; m[0,1]=18; m[0,2]=25; m[0,3]=17;
m[1,0]=11; m[1,1]=21; m[1,2]=18; m[1,3]=23;
m([2,0]=24; m[2,1]=16; m[2,2]=22; m[2,3]=15;
39bLOBOZMGN 1 25FMOESbgm 3MbLMEBY:
1. 99-2 LEGHPIbEHOL Tgusligds 9-4 Logobdo, bmerm d9-3
LEAHM9bEHOL Fggz3oLgds 1-9¢ Loasbdo;
9395 bLEAMEIBEHOL Fgxslgds 9-2 Lods6do;
39-3 LEAHIBEOUL LETMSEOM Jmens;
95JL0doE MM TGFBSBYOY;
9d0b0dsermEo Ggg3sligds.

99-2 bEAH™IbEOL JMEEsms K sT0.

AN

Q©535¢90s 2
Boadmmo  2969M0@MmMgdol  godmygbgdoom  doowgm
39000930 M6H256DMm0wgdosbo dsbogo:
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s L ks
[ T B Ry L]
e B Iy T R P
e B R

=1 o n

[l I R E R B 1

[+
L co
=

535¢0gds 3
doopgm  4x5  TsGH®ogs  dogwo  J9dmbzg300m0
603b3990L256 (20, 80) O0535DMb0sD.  QoBMmOMZoEgm s
399039690 (3903990 LGHMOJMmbol gargdgb@gdol xsdo.
Q535¢09ds 4

d94dboo  4x4  Bo@H®0@Es,  OMIWOL 9058093500
053™bso 893L90v)e0s HoEbzo 1-om.

Q535¢n9ds 5
93999905 BoBHMO3d:
matrix ([[7, 5, 1],
[-1, 3, 4],

[9, 8, -2],

[0, 11, -5]])
399039690 Jo@GHmoEol 9wgdgb@EHgool xsdo, oL

993960 s dzoMgLo gergdgbBo.

©535€9dS 6
5350905 5-do0 dm39dero  gotoddgbom  dGMEHggero
LSBO® S oMOEsbgo 3MbLMMbY.
Q©535¢090s 7
Q535¢905 6-d0 dMGHYJEo Lobom A9MOJdbO FoBHOEL
53m6ds 9999335090 © HomdMmoyobgm (2,6) bLsboo.
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53MM5E MO0 Bsdmdsm 9
0993: B509d0

5155899853900 Logombgdo:
- 3500l 2oblbs o IbE3Y;
- 39JLGHMO BOWGOML FMTomds;
- gv0wob {o30mbgs;
- CSV gs0qdo;
- 0OS 0m©o ©s 39995005 B50eM LoLEHGIoLmIb;
- 00b5(ME0 Bo0gd0;

B50ol 3oblibs s sbmM3s

open(file, mode)

306390 35653930 FoMTmoqbl qboll Bsomsdg.
9o oomoq: C:\somedir\somefile.txt. 99o0dggds doLOTSOMO 56
909000mMb. FogoWOMI©:
somefile.txt.

dgmeg 356599GMo - mode ©594gbgdL BooErol AsblbOL
69300L.

hello.txt A9AHMOH0  Boools  goblbs  dolsdsGaols
9000mgd0L 256M9d] :

f = open("hello.txt", "w")

93500l obM3gs:
f.close()

933500l oblbs dolsds®mols domomgdom, 39Mdme, D

o 3%g 9993bocr Lodomawrgdo:
f=open("D:\mydir\hello.txt", "w")
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A9JBGHIO Bo0EgdmSb FnBomds
BP9 ©5039 06g3mEBs305 hello.txt ggoogrdo.

with open("D:\mydir\hello.txt", "w") as file:
file.write("hello world")

Q558539 BS0wL 30093 JOO LEGHMOJMbo:
with open("D:\mydir\hello.txt", "a") as file:
file.write("\ngood bye, world")

hello.txt ool 946905 d908ga0 Jobss®lo:

| File Edit Format View Help

hello world
good bye, world

goowdo  BsfigMol 30093  ghmo  bgdbos  print()
UEHobIOEHMEO gm0, MHmdgos 3990949bgds
9mb5(399900L godmbo@obs 3mbLmwbHY:

with open("D:\mydir\hello.txt", "a") as hello_file:
print("\nHello, world", file=hello_file)

print dgomEdo dgmeg 350599GHM0L Lobom  gowo939ds
53500l sLobgargds  file  3o6g@Mom, bmrm  JoM3zgEo
356599300 5M0oL Bs0edo Bsbsfgemo bGHmodmbo.

150ob {ogombgs

33500l §53000b30L5L godmygbgd o IgmmEgdo:
— readline(): 35006 30HMWMBL 9O LEGHMOJMbU;
— read(): 3000b"WMBL B0l doger F9doYIbEMBSL 9O
LEHOOJMbo;
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— readlines(): 30bMBL FS0EOL yz9es LEGHMOJMBL Losdo.
B99mm gm0 3500l BEGHMOJMB-LEHOOJME fozombgs:
with open("D:\mydir\hello.txt", "r") as file:

for line in file:

print(line, end="")

39390 BEA®oJmbol  {alszombow readline() dgomob
3H500 LEbom godmdsbgdo:
with open("d:\mydir\hello.txt", "r") as file:
strl = file.readline()
print(strl, end="")
str2 = file.readline()

print(str2)
3990396l dggal:

hello world
nellg woXrl
-

-

[}
(8]
I

bye, world

Readline() 9gom@olb  59mygbgds  xgs0wol  LEHMoJmbgdo
Pobsgoombsg while 03¢0 do:
with open("d:\mydir\hello.txt", "r") as file:
line = file.readline()
while line:
print(line, end="")

line = file.readline()

3d9©930:
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93069 BMIoL Gosowol 9MHmMosbs fogombgs read() dgmmob
399mygbgd000:
with open("d:\mydir\hello.txt", "r") as file:
content = file.read()

print(content)

readlines() 99goMmEOL  godmygbgdom  dosbo  Gsowol
053000b35 LEGMOJMbgdol Lool Lobood:
with open("d:\mydir\hello.txt", "r") as file:
contents = file.readlines()
str]l = contents[0]
str2 = contents|[1]
str3 = contents|[2]
print(strl, end="")
print(str2, end=""
print(str3)
gvo0ol  ogombgobsl  8godergds §ogshyogod  od
36OMdEgIsL, M@ Jobo 3MmEoMYds 56 gdmbggmegly ASCII-b. 59
d90mbgg3sdo B39b 3bso Lsboo dgyz0dwros dozmmoommo
300905 encoding 356M539BHMOL ©obIsM9d0:
filename =" d:\hello.txt"
with open(filename, encoding="utf8") as file:

text = file.read()

36MaM5ds  9mdbdoMgdols doge dg@oboer bGMmodmbydl
BofgOl  gsoedo, 9909y Imbads Gsowol  Jobss®lol
0o300b35 5 93656%g 2o0M@9b:

# 53500l Lobgwo

FILENAME = "d:\messages.txt"
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# 24563L5BMzOM™ (35M09w0 Los
messages = list()
for i in range(4):

message = input("990@sbgm LEGMoJmbo +str(i+1) + ": ")
messages.append(message + "\n")

# Lool Bogms g3sowdo
with open(FILENAME, "a") as file:

for message in messages:
file.write(message)

# (0300b35 535006
print("fozombwaro 9@ ymdobgds")
with open(FILENAME, "r") as file:

for message in file:

print(message, end=

9000905 39090:

== RESTART: C:/Users/Guliko/AppData/Local/l
Apndebye LEMAodmbo 1@ Sandro
dpoGebye LEAodmbo 2: Lomjaria
dpoGebye LEMAodmbo 3: Anna
dgoGebye LEAodmbo 4: Karden
Bogombome BGgebobpds

Sandro

Lomjaria

Anna

Karden

g

CSV gsoemgdo

csv (Comma Separated Values) os0edo (390039990
LEHMOJMbo FoMTMoAIBL Fow3ge BsbsfgOl 96 LEBHMOJmbL,

6MHmIgeroi  09pgds  8d0d99000  258MYMBOWO  (35¢03JICNO
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139BOLESb.  2obgobowmom csv  Lb3gosMo  Bsdgbgdmwo
9ol 3M3omds dogomombHy:
import csv
FILENAME = "users.csv"
users = |
["Tom", 28],
["Alice", 23],
["Bob", 34]
]
with open(FILENAME, "w", newline="") as file:
writer = csv.writer(file)
writer.writerows(users)
goowdo  Boofgmgds  mMasbbmdowgdosbo  Los -
339dBHMOMH0350  3BOOWO, Ldsg 39390 LEGHMogmbo
Do60mogbl  gmo  dMIbTsMGIJL.  brmrm  (35¢ 39990
dmdbdoMgdgo  Jgogogl mM 39wl - Lobgwo @os  sbszo.
93394 BHMOM0350 3HOOWo Fgygds Lydo LEGHMOoJmbols s MmMo
L39EGHOLRSH.

BoBofigol ods@gds ["Sam", 31]:

import csv

FILENAME = "users.csv"

with open(FILENAME, "a", newline="") as file:
user = ["Sam ", 31]
writer = csv.writer(file)

writer.writerow(user)
users.csv. 350l LYOMEMME  9db69ds  F9dga0
39050099beMmds:
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Tom,28
Alice,23
Bob,34
Sam,31

3395006 Hozombgzolmgol reader mdogd@ol 994dbs:
import csv
FILENAME = "users.csv"
with open(FILENAME, "r", newline="") as file:
reader = csv.reader(file)
for row in reader:

print(row[0], " - ", row[1])

reader md09JGHolL doEgdobol dgodegds (303¢do dolo gz9ws
LEHOOJMboL QoocBg3s:

Tom - 28

Alice - 23

Bob - 34

Sam - 31

OS 8mvEo ©s 3795Mmds Bs0EyE LoliEgdolomsb

3ob30bowmm 0s BsIg6gdMEo  BmEol doMomso
9900 ©9d0:
— mkdir() - Jabols sbaew Lodomowrgl;
—  rmdir() - §58ob bogdowsgl;
— rename() - 35©550Jd9g3L BsOL;
— remove() - {odol gosob.
Logdomoeqls d9gdbo:

import os
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os.mkdir("d:\myfolder")
os.mkdir("d://myfolder")

Uogdo®owqgl §odws rmdir() gbdsos:
import os

os.rmdir("d:\myfolder")

33500l Lobgol QoocJdngzs:
os.rename("d:\mydir\hello.txt","d:\mydir\gamarjoba.txt")

33500l Fodo:
os.remove("d:\mydir\gamarjoba.txt")

0065610 Bo0Egdo
deagoryemo pickle
pickle dmwo {o®oygbl M dgomels:
— dump(obyj, file) -Bsfg®l obj md0gdBHL d0bse¥yer file oo do;
— load(file) -  3000bwEMmdl  dmbszgdgdl  dobsGrmeo
ROOWOED.
™60 Md09dEol 809893mdom BsHgms gsowdo. sbigag,
900936Mmdom  ffoz3ombgs  g3s0wosb s 299mBsbo
30bLmeby:
import pickle
FILENAME = "user.dat"
name = "00dy"
age =19
with open(FILENAME, "wb") as file:
pickle.dump(name, file)
pickle.dump(age, file)
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with open(FILENAME, "rb") as file:
name = pickle.load(file)
age = pickle.load(file)
print("bobgero:", name, "\tsbozo:", age)

9900000
Labgmo: cmods sbsgo: 19
®0099d3H9gool 6536900l BsfgMs  gsowbo  ©o
fogoombgo:
import pickle
FILENAME = "users.dat"
users = |
["oomds", 28, True],
["9angbg", 23, False],
["®900", 34, False]
]
with open(FILENAME, "wb") as file:
pickle.dump(users, file)
with open(FILENAME, "rb") as file:
users_from_file = pickle.load(file)
for user in users_from_file:
print("bsbgero:", user[0], "\tsbivzo:",
"\togm®mfobgdmero:", user[2])
890920:
Labgemo:  ceds sbsjo: 28 wigrrfiobglemo:
Labgemo: by sbsjo: 23 wigrrfiobglemo:
Labgemo:  Hydo sbsjo: 34 wigrrfiobglemo:
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©535¢9ds 1
494996000 D ©ol3bg myfolder ULodomowrqyg. asblgboom
myfilel &9duEmeo gosowo BsLIHYMHI, OMIgoi dgobsbgm
9396 doge 89Jdbogr  Lodomosergdo s dsldo Fgo@sbgom
69d0Ldogmo 9hmo LEGMoJmbo.
535¢gdS 2
535905 1-80 99gddbon 50 do 335¢3)go Mo©9body
bEHogdmbo.
©535¢09ds 3
09396  doge  F9Jdbowo  Bs0wosb  foozombgm
39390910 BEGHMO0JMbYd0 s PoTMOEbgm.

Q535¢09ds 4
fo030mbgom mdzgb dogH d9Jdbowro goowo gemosbow s
2459m0&sbgo.
QO35¢09dd 5
foogombgm  gsowo  LEGHMoJmbgdol Lool Lsboo s
2459m0&sbgo.
0535¢»9ds 6
394096000 00539 Lodowowgdo  dgméMg - myfile2

A9bGHMO0 Booero. myfilel-sb GH9gduBHo osfgcmgor myfile2-
do. 3990396y BH9duEGHO MO39 BSOWOEIH.

©535¢9ds 7

3390 29590300 Lobgero, Hodsgom gGosowo, sdswgom
LogodE Y.
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©535¢9ds 8
939990 BsbsfigMoligsb 894dgboom csv gsogo:
["Kavsadze Megi", 550, 18],

["Askurava Gabi", 551, 19],
["Dadvani Semi", 552, 20]

535¢0gds 9
394960 csv 5300l 55353900 90 5HsEo BbHgMo.

©535¢ngds 10
foozombgom s 299mo@sbgm d9ddboro csv goorols
0905003960 Mds.
Q535¢m9ds 11
9m399Mwo  ™md09d3Hgdol  Bs3mgdo  Bsfgmgo  Bsowdo.
3900099 H2030mbgm B50W0EL s oBMmOEsbgm 3MbLMEBY:

students = [
["393L5d9", 550, "3535¢00360"],
["56980d9g", 551, "3530L3HMBGH0"],
["6933535", 552, "3535¢5360"]]
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30O G MO0 Lsddsm 10

0905: dmrmegdo
5155899853909¢00 Ls3z0mbgdo:

- 9ol 999a6s;
- 3539¢0L d9gaby;

- do60m50 B5d9690m0 Bm©meEgdo;
— math dm@©ol dDmyog®mo gwbjiogdo.

dmmeols 99943bs
dmwol d94dbs simplemath.py ULobgwom, GmIgeos
3903393L 63090l FoM 3030 5OOMIYEH03ww0 ImddgqdgdoL
d9LsLEOY9OES:
def add(a, b):

returna+b

def sub(a, b):

returna-b

def mul(a, b):
returna*b

def div(a, b):
returna/b

simplemath.py 8mmeol yzgws 3600l 4e8mdsbgds:

import simplemath

simplemath.py 9m@veol g439es 896Jgool godmdobgds o
3909200 godm@sbas:

print("\"import\" sample")
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print(simplemath.add(1, 2))
print(simplemath.sub(1, 2))
print(simplemath.mul(1, 2))
print(simplemath.div(1, 2))

9000905 39090:

3
-1
2
0.5

9ol gbgzmbodol d94dbs:

import simplemath as s

9ol gggws  gvbdool  godmdabgds  BLgzmbodol
99939™do0m:

print(s.add(1, 2))
print(s.sub(1, 2))
print(s.mul(1, 2))
print(s.div(1, 2))

9moEsh  dbmemE  ghmo,  3s0oms©  d9309d0U,
53964300l godmdobgds:

from simplemath import add

print(add(1, 2))

9390 Jgdmbggzsdo  Lbgs  gmbdgool  go8mdsbgds
3990396l J93005L, BoQ5POMS:
print(sub(1, 2))

NameError: name 'sub' is not defined
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3539¢0L 99gabs

994996000 mathpack Uodomow@g @o 3oBTo 2550 9Bgom
simplemath.py Odm@uwo. o3 89dmbggzsdo simplemath.py
9ol 59mdabgds Joowgdls Labgl:

import mathpack. simplemath

print("\"import\" sample")

print(mathpack.simplemath.add(1, 2))
print(mathpack.simplemath.sub(1, 2))
print(mathpack.simplemath.mul(1, 2))
print(mathpack.simplemath.div(1, 2))

simplemath dmwol 0d3mMEH0 dgodwrgds dMmEOBOEOMEIL
399090 Loboon:

from mathpack import simplemath

g d90mbgzg3s80, ©BsMRYBO  3mEBo  HMVFIMHO  SMIM

390333 900:
from mathpack import simplemath

print("\"import\" sample")
print(simplemath.add(1, 2))
print(simplemath.sub(1, 2))
print(simplemath.mul(1, 2))
print(simplemath.div(1, 2))

494996000 30093 9H»O dmEero: advmath.py s dgobobgo
mathpack bsgdomsergdo:
def sqrt(value):

return value™0.5

def pow(value, magn):
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return value™magn

advmath.py dm@wols go8mdsbgds:
import mathpack.advmath

9399990 IMEI0Esb mbdiEol godmdsbgds:
print(mathpack. advmath. sqrt(9))

o6: from mathpack import advmath
print(advmath.sqrt(9))

doM0mdo 539698 Imrergdo

import random
number = random.random() # 3609369crmds 0.0-cs6 1.0-8¢0g

print(number)

number = random.random() * 100 # 8609369¢e™ds 0.0-56
100.0-8¢0g

print(number)

import random
number = random.randint(20, 35) # 9603369 mds 20-sb 35-
deg
print(number)
import random
number = random.randrange(10) # 3609369comds [0 — 10]

print(number)

number = random.randrange(2, 10) # 3609369cmds 2, 3, 4, 5, 6, 7,
8,9, 10 ©0535Bmbdo

print(number)
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number = random.randrange(2, 10, 2) # 8609369wmds 2, 4, 6, 8,
10 ©0535Bmbdo

print(number)

L0gOMb Lodwydsme random dmedo QobLEDWIOME0S
m60 gmbdgos: shuffle() 896J305  2909950P0WOL  LosSL
d9dmbggzomo  Lobom, bmeom choice() gmbdios  sdMMBYIL
Lo0Ib 9MHo 9dmbgzgz0m gergdgb@l:

numbers = [1, 2, 3, 4,5, 6, 7, 8]
random.shuffle(numbers)

print(numbers) # (2,6, 1,7, 3, 8, 5, 4]
random_number = random.choice(numbers)

print(random_number) #7
math dmwob Brmyoghmo gmbjzogdo

import math

#2-ob 3 ba®olbo

nl = math.pow(2, 3)

print(nl) #8

# 0039 m3965305 990degds sbigE Tgbe gl
n2 =2"3

print(n2)

# 539L30L 53MEYdS

print(math.sqrt(9)) #3

# mobemgbo Moglo dmgeo Gogbgzo
print(math.ceil(4.56)) #5

# 5beomgbio md0Mglbo Imgero Hogbgo
print(math.floor(4.56)) # 4
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# 500560056 2MMLT0 25oy3965
print(math.degrees(3.14159)) # 180

# 36500MB0D M5E05630 FooY356s
print(math.radians(180)) # 3.1415.....

# 300060
print(math.cos(math.radians(60))) # 0.5
# Lobmlo
print(math.sin(math.radians(90))) # 1.0
# Gobagblo
print(math.tan(math.radians(0))) # 0.0
# MmO mMI0

print(math.log(8,2)) # 3.0

# 5MB0MO MQSOHOMI0
print(math.log10(100)) # 2.0

math dmEmEo, ™93y, PoMoygbl dmgwr oy
539690 830390L, HMAMOOESs PI s E:

import math

radius = 30

# 30 ©500MLosbo Mol BsGNMdO
area = math.pi * math.pow(radius, 2)

print(area)

# 10-0b Bo@GOSHO MYsOHOMTO
number = math.log(10, math.e)

print(number)

132



©535¢9ds 1
394996000 dmwwo, GMmIgoi dgoaegt Lsd wmbdisos: mGo
60o3Eb30L LsdMsEM (00393030l 3m3bs, MmMo MoEbgznsb
»©0EJLOL 3365 > MMO HOEH30L MI3oMgLOL 3mgbs.

535¢0gdS 2
©535¢q0s 1-do 89ddboero dmerosb 4sdmodabgo ygzges
xbdaos.

0535¢90s 3
©535¢q0s  1-do  dgddbogro  Bm@oEsb  asdmodsbgo
33390 BrIbgaogodo.

535¢ds 4

394996000 UBodo®ow @y, Boog PoI0GBIm ©i35¢gds 1-8o
d9Jdbowo Bmbjgos. 08539 Lodowswrgdo dgobsbgom sbowro
9o, GMmIgwoi 990905 3I6d30900Lysb: mE (33ws©L
dmMob 96003690 md9d0L  2533Ws,  9MYMBOoMO  MOEb30L

9oL Q5TMNZWS.
Q©535¢M9ds 5

Q535905 4-8o 89ddboero dmEYer0Esb Asdmodsbgo yzgwrs
1Mbdi30o.

535¢9gdS 6
Q535905 4-do  Jgddbogro  IMO0oEsb  Asdmodsbgom
353930 BIbI30d0-

133



@30MM3EMM0MEo Lsdmdsm 11
0995: 359mbs3¢olgdol ©s3T53905

5155899853909¢00 Ls3z0mbgdo:
— try — except d¢m30;
— try/except 330l B3bJ3090mb 359myqbgds;
- 65000960089 2590b5300lLOL godmzargbs;
— finally m396Ms@m®ol 459mygbgds;
— try/except m39M5GHMOMb ghmo else 259mygbgds;
— try/except ®50¢g0msb 3)domdols MHmU;
—  raise m39M5@MGMO0.
try — except dgnm3o0

39630bowmm gagdgb@sm o 3Mmdegds: 0-Bg goymas,
™30l @OMLYE Fo®M0dzq0s 259mbs3eolo:
1/0
Traceback (most recent call last):
File "<string>", line 1, in <fragment>

ZeroDivisionError: integer division or modulo by zero
396350036m gUs odMbEbMEgds try — except dgom3do:

try:
1/0
except ZeroDivisionError:
print("69)enbg gogmazs d9wdegdgeros!”)
890920:
By peymms gmdumgdoumos!

3930™30L sx0JLOMYdOL 3093 9HMO bgdbo:
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try:
1/0

except:
print("6)enbg gogmazs d9wdegdgeros!”)

5 o6 BBl OHMIgew  Fg3mBsDge  @03560530.  s80EH™I
dmmbgObgdgos.

try deom3o 539696006090L 959mbo3woll, Go@peb x o6 sMol
39bLsBEzOMEO:
try:

print(x)

except:

print("{o®dm0dgzs 450mbszerolio"”)
89©000:

Hufdmndgs psdmbszrmolio

3934365 wgduozmbo Lsdo 9egdgbEobgsb. sdol 9999
3939350M® {3mds 3537bLBs0Y AoLOMIBL, MMTgJEOE 56 sGOL
@9dbogmbdo. ©oYob  AoLOMgdO 9O MOl gdlozmbdo,
5000360905 KeyError, 6ol 490m353w9600 36H:my®530b 3000d0:
my_dict = {"a":1, "b":2, "c":3}
try:

value = my_dict["d"]
except KeyError:
print("ql golomgdo 56 sGLYdMBL!")

990020
g aaliserabo M HOHLYLeDLE!
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dogocwomdo dmgderos Bos, MMIol Lboa®dg dgoaqds 5
3099430LRs6. 993939000 J0gdsOmMM 3993009 9egIgb@:

my_list =[1, 2, 3, 4, 5]
try:
my_list[6]
except IndexError:
print("gb 0bgdlo 56 s6Hob bLosdo!")

9900000
b oboadlo 6 6ol Losdo!

try/except d¢rm30l 3196930900056 g58mygbgds

9535w 0omT0 458Mmbs3eoLO 56 5849530 gds:
def divide(x, y):
try:
result=x//y
print("3sbvmbo:", result)
except ZeroDivisionError:
print("yoMogds! 6yanbg gogmazss ")
39339 356599 BHMgd0,  MHMIOL  OMLS3  except SO
09d5390L:
divide(3, 2)
9595w 0mT0 5OOL godMmbs3wolio, sdoGma except 03+9dogz90UL:
def divide(x, y):
try:
result=x//y
print("3sbwbo:", result)

except ZeroDivisionError:
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print("gm©omgds! by goymazss”)
390093339 3565393090, MHMAOl OMLSE except 09To390L
divide(3, 0)

399©930:

gofeugds! bomby gogmgss

58096009 359mbs3eoloL 453mge9bs

05305300395 356gbm j300MasL MO golomqdDY.
try/except @sbds6gd00 359m{jdgdm 3m©bL KeyError d93omdol

3OLgdMdsDY, MMIGoE 0dYymxgds  godmbszeroliol  dgmey
M39653MMd0. 30200l dMTo HMOL FoM0YEo godmbszwolo,
MoLO 59Mmygbgdog 96 MOl ©930mI9bgdMwo.  Fogoomdo
d009wo  dwMm30  259myggbgdos  ghmeaMmo  dg3mdol
3993 gbso:
my_dict = {"a":1, "b":2, "c":3}
try:

value = my_dict["d"]
except IndexError:

print("gb 06qglo 56 sOLYGdMBL!")
except KeyError:

print("gb 4oboMgdO 56 sGOL wgdbozmbdo!")
except:

print("dmbgos bbgs d93mads!")
890g20:

i aolismpbo 0 oMol oegdbogmbdo!

39630bowmm ©59gbodg 35dmbseroliol 4sdmzwgbol dgmeg
ba®bo:
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my_dict ={"a":1, "b":2, "c":3}
try:

value = my_dict["d"]
except (IndexError, KeyError):

print("§s6dm0d3s IndexError 56 KeyError!")

399p0:

fofdmodns IndexError o6 EeyError!

0330 oJ 390IM3ZIZIL0d 39PIME CMIgEro Fg3mds
Dom0modgs.

finally m3g6s@m®ols 353mygbgds

finally dqm3o dgbOargds 0dol dobgozs, FodmMLgdL
099 56 try dgom3o 993omasl:
try:
print(x)
except:
print("®owsg 993mdss")
finally:
print("'try except' 560l ILOWYWGOMEO")

99020
fams3 Ogamndss
'try except' Mol @alifrogogdoomo
9399 Bos8o QoLOMGI0 56 sMOL 6s3Mm3gb0, MOL Qodm3

0o008m0d390s KeyError 359mbszobo:
my_dict = {"a":1, "b":2, "c":3}
try:

value = my_dict["d"]
except KeyError:
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print("§s®dmodgs KeyError!")
finally:

print("finally m3g®s@m&mo dgLemegderos!")
99930

Butdemodns EeyError!
finally cdgfadr@o Ipbfrmempdaemos !

try/except m3gMs@mMm0sb ghmo else g59mygbgds

else 00v%do390L dbmErm@ 35d0b, MLy  3Mm©do

50396000 993MTs 56 SGHOb:
my_dict = {"a":1, "b":2, "c":3}
try:

value = my_dict["a"]
except KeyError:

print("§o6dmo0dzs KeyError 99;3c0mas!")
else:

print("dgEmds o6 Fomdmodgs!")
9900000

dgzonds of HoHdnodgs!

3934365 gdbogmbo Lsdo gegdgb@oLash s try/except
™39605GHMmOmdo  gogblbom  i3omds  sMLYIME  golivwgdby.
KeyError 9930mds 56 50009360905, 500@Md 50493530905 else.
3L ©53535¢ ™o finally m3gGsdmeo:

my_dict = {"a":1, "b":2, "c":3}

try:
value = my_dict["a"]
except KeyError:
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print("§o6dmodzs KeyError 993c0mas!")
else:

print("893™ads 56 Fomdmodgs!")
finally:

print("finally m3g®s@m&Mo dgbevyancos!")

9900020
dgzornds oA HoHdrnodgs!

finally cdgfa@rfo SgLfrmmos!
try/except 85090056 dmdsmdol Mmls

39393900Mm® 253bLbsm s Bs3[gOM™M gsowdo, GMIgEog 56
560l dobszmdo BsboHgMo:

try:
f = open("demofile.txt")

fowrite(" 3946039960 »bozgMLoEgE0")
except:

print("893™dsd Bsoob RofigMsdo”)

99030
dgzeodes gsomols Bofipfuedo

9399 99000b393580 B0 ™Sb BMBomds Bsd9bgdmeos
try d¢gom3do. 099 500d3Mgds ©50dg 45dmbszeobo, aodmgs
»0930M055%, Bgdoldoge Jgdmbggzsdo finally dgom3zdo gsowo
QO0bMHY05, 0379 00 SOBYOMBL:
try:

somefile = open("hello.txt", "w") #250blbs gs0@0 RsLHgM©
somefile.write("hello world") #Bs0{96s g3sodo
except:
print("893™ads5")
finally:
somefile.close() #Q50bM5 Gsowo
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raise Mm390M5GHMM0

DMaxIO LoFoMms bgwoom  ©igbgMoMogl  glscmgols
399b5300l0. 580BsmM30L F5dM0Ygbgds raise M3gMOGHMEO:
try:
numberl=int(input("8go@&sbgom 30639w0 Hoibgo:"))
number? = int(input("8go&sbgo Igmeg Gogbgo: "))
if number2 == 0:
raise Exception("9gm6Mg ®ogbgo 56 «bws ogml 0")
print("m6Mo Gogbzol 394®mz30L d9090:",
numberl/number2)
except ValueError:
print("dg@oboros sM03mMmgdGHwyero dmbszgdgdo”)
except Exception as e:
print(e)
print("36G0530L oLEMWEgds")
3903969 MM MHobgzo, 2odmbszwrolo 56 58993530 gds ©d

d000qds 89090:

Ggodebym dofiggmo Mogbgo:d
Bnndabom Ogmfy Moghgo: 2

mfio Hogbgol gegogel Gopgpe: 2.0
dtemgfodol @ulifrmmads

390@&9bg00 3609369¢d0 b0, 58853 gds raise M3gEMHOGHMMO:
dgodebye Jofiggmo Gopsbgo: 3

Byohebooe dgmfg Mopboo: O

dgeafyy Bopbgzo o6 obos ogelb O

dfegyfedols alifragmgbs

39039690 5653mM9dE o Imbo3gdgdo, 50493530 gds ValueError:
Apodebpm dofzgmo Hoibgo:2

Bnodsbym Boméy GAogbao: a

BpBebormos 3653000 ddmeme  dmbaigdpbo
Iepfobol olifmemabs
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©535¢9ds 1
93999905 3GIMaM5d0L 3MO:
a = float(input("890¢&s690 Hoibgzo"))
print(100/a)
399m0ygbgm 3m@do  try-except d™m30, Goms 99dmNb39300
99¢oboo  LoddMEMgdol (565  Goabgzol) Fgdmbgzgzsdo
2590m3009L 993HYmd0bgds: ,, gl HoEbgo 96 SMOL®

Q0535¢90s 2
9m(39905 3Gl 3MEO:
a = float(input("890&s690 Hoibgzo"))
print(100/a)
399m0yYygbgm 3m©do try-except d¢gom3o, Moms dg@sbowo 0-ob
d90mbgg35d0  259m300098  g@Ymdobgds:  ,bmbg  gogmass
©>7)938900s"

©535¢»90ds 3
©535¢q051-b5 @O  O35¢gds  2-0b  dobgzom  dgddgboom
900560 3mo, Lssg 9hmo try  dem3o 8903536 MmM039
except 0erm3U.

535¢nds 4
©535¢q0s  3-30  except dEom3L  9FsBHJn  else  dewm3o,
GIgmog 9985300y 85806, mvy 3OHMyMsds LMD
m393MIM.

Q0535¢mgd5 5
Q535905 4-80 3L Y9353 finally dermzo, GMIgEros
399M039bU;: ,,030185300900 yz9ers 99dmbggzsdo”
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30O GHMO0e0 Bodwydsm 12

0905 md093dEbg mMH0gbEH0MYOMMO ©I3MMYMTds (1

Bsffoero)
305900, md09dGgo0, 06358Lms30s

559993539090 Ls30mbydo:

3sbol s mdogd@ol 94dbs;

3sbol 3mBLEGHOMIEGHMM0, ©JLEHOWYIEHMEOO0, TJNMEOYd0;

LGOG030I0M0 (33e50L godmyggbgds 3ersliol Igmmdo;

LEGOGH03MMO 890MOO;

06358Lws309, 396dm §3MA0L 5EMH0dEJdO.
3olol s MdogdEHoL 39Jdbs

390090 3eslols dgddbs

class Parrot:

pass

30990l 99Jabos:
obj = Parrot()

3sbob 3mbLEGHGYJGHMMOo, IgmmEgdo

3934365 305b0 3MmbLEHOWIEHMO00 s IgNMOYdOm:

class Employee:

empCount =0

def __init (self, name, salary):

self name = name

self.salary = salary

Employee.empCount += 1
def displayCount(self):

print ("Total Employee %d" % Employee.empCount)
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def displayEmployee(self):

print ("Name : ", self.name, ", Salary: ", self.salary)

™d09J@9d0bL d94dbo:
empl = Employee("Zara", 2000)
emp?2 = Employee("Manni", 5000)

9900909 H3omds:

empl.displayEmployee()

emp2.displayEmployee()

print ("Total Employee %d" % Employee.empCount)

80700560 36Mm505:

class Employee:
empCount =0
def __init_ (self, name, salary):
self.name = name
self.salary = salary
Employee.empCount += 1
def displayCount(self):
print ("Total Employee %d" % Employee.empCount)
def displayEmployee(self):
print ("Name : ", self.name, ", Salary: ", self.salary)
empl = Employee("Zara", 2000)
emp2 = Employee("Manni", 5000)
empl.displayEmployee()
emp?2.displayEmployee()
print ("Total Employee %d" % Employee.empCount)

39©930:
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e el s
TV

Name : Zara , Salary: 2
Name : Manni , Salary: 5000

Total Employees 2

305900l 5GHM0893HJd0 F90dqds O9TsGH™ML, Hoodsermls 6
390335¢mb 6900ld0gMH OMU:

empl.age =7 # 'age' 5¢M0dMEH0L ©sd53gds.
empl.age =8 # 'age' 5¢©0dEOL 993300
del empl.age # 'age' 5@®0dm@EobL Fodwws

5300390 §3mIobmzol B39MWwgde030 M3gesEHMEOmIdOL
3990mygbgdol  Boggwro  8godegds 99990 B3bdi0900L
399mygbgdo:

hasattr(empl, 'age’) # 506bgdL true-bb vy 'age' 5GHGOdMEO
560l

getattr(empl, 'age') # 506xbg0dL 'age' 5&H®OdYEOL
36003690mdsL

setattr(empl, 'age', 8) # 'age' 5&M0dMEbY 8-0b JoboFgdo
delattr(empl, 'age') # 'age’ 5¢®0dEHOL Fods

©ILGHOYIGH™OO

_del () ©ybGH®MIBHMO0s, 030 0933l 3esliols
935993560l Labgrl, HMIgeoa Mbos JobsYMHYL:
class Point:
def _init ( self, x=0, y=0):
self.x =x
selfy=y
def _ del__(self):

class_ name =self. class_ . name
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print (class_name, "destroyed")
ptl = Point()
pt2 = ptl
pt3 = ptl
print (id(ptl), id(pt2), id(pt3)) # 39353l Md0gdEH9dol id-9dbL
del ptl
del pt2
del pt3

89@000:
2024848 5024848 5024848
Point destroved
dm399mo0s Jewslbo BankAccount, 3Jdbom m® mdogd@L
Q5 3005b98m d90MEYOL:

class BankAccount:
def __init_ (self):
self.balance = 0
def withdraw(self, amount):
self.balance -= amount
return self.balance
def deposit(self, amount):
self.balance += amount
return self.balance
a = BankAccount()
b = BankAccount()
print( a.deposit(100)) #100
print (b.deposit(50)) #50
print (b.withdraw(10)) #40
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print (a.withdraw(10)) #90

UGoG03MM0 (3¢50l 59mygbgds 3emsliols 3gomedo

class A():
def __init_ (self):
self.cnt =0
def f(self):
self.cnt += 1
return self.cnt
a=A()

39900
print (" Class A testing")

print (a.f())
print (a.f())
print (a.f())
d9gp0:

1

2

3

UBGoG03mMo 3g0mEo

LG9G036 39gnMmEOL 45dmdsbgds MmdogdEol 8gddbols gocgdy:

class MyClass(object):
@staticmethod
def the_static_method(x):
print (x)
MyClass.the_static_method(2) # outputs 2
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06358Lmms30s, 390dm 3m30L 5EHM0dMEHJd0
35g9omdo  45dmygbgdmeros Logmom {gmdols count

dmbs39d0, GMIgLs  Md0gdBHo  F0ToMOgL  30MHI30MO
f30mdoon:

class B:
count =0
def __init__ (self):
B.count+=1
a=B()

print(a.count) #1
d=a.count+5
print(d) # 6
count dmbs39dbg LogHom figmds 893335wmm  39OHIM
P30mdom, ™d0gdBHol  30MmEI306MH0  B0TsOM3S  FM339dL
d930MasL:
class B:
__count=0
def __init__ (self):
B.count+=1
a=B()
d=a.count+5
print(d)

359250mTo 359mYygb90mE0s LoxsO™ Famdol Imbsgdgdo:
class Person:
def __init_ (self, name, age):
self name = name # 35996900 Lobgemls
self.age =age  # 35996900 sLo3L
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def display_info(self):
print("bobgero:", self.name, "\tslozo:", self.age)
tom = Person("o»»ds", 23)
tom.display_info()
tom.name="@9ux30b60" #333w00 name 5GHMOdMAEL

tom.age = -19 # 333C0m age SGHMOOMBHL
tom.display_info()

890030:

Lasbarno:  oeds sagn: 23

Lsbgmo:  @pmaobo soyn: -19

95925w0m0 39MdM {3mdol dmbs3999d0m:
class Person:
def __init_ (self, name, age):
self. _name = name # 3599b9dm Lobgarls
self. _age=age # 35996900 SLo3Ls
def set_age(self, age):
if age in range(1, 100):
self. age =age
else:
print(" 9839090 sb530")
def get_age(self):
return self. _age
def get_name(self):
return self._ name
def display_info(self):
print("bobgero:",self.__name, "\tslogo:", self.__age)
tom = Person("o»»ds", 23)

tom.display_info()
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tom.__age =43 # age 5GHM0dME0 56 9903309ds
tom.display_info()  # Lobgeo: omds sbszo: 23
tom.set_age(-486) # 90390900 SU530
tom.set_age(25)

tom.display_info() # Lobgo: mmds sbs3o: 25

0535¢9ds 1

394996000  3wsbo  ®obsdIOMAgo,  Loxsmm  BHodol
9mbs(3999000: 235600, Lobgwro, sbs3zo, 8MFomdol  LEsgo,
bowagslo. 3o9m0ygbgom 30bLEGOWJGH™MO ®3099GHobl
0bogoseobgdobmgzol.  dgddgboom  dgom@o  sbodbyero
9mb5(399900L 259MUsE9Bs. godmogbsgo dmgdmeo 3esbiol
gm0 mdogd@o, IgmmEol 99839Mmd0m  59Mmo@ebgom
9mb5(399900 056589MMIol Tgbobgd. Fgdamd F9E39W g,
056589600l 31Fomdol BEsgo s Bgarxgsbo s bgwsbens
3990356900 35658O:MIols Iglobgd dmbs3gdgdo. 99wgaqgdol
365¢00B0@H 498MmI0bsMY 495393900 ©-l336930.

Q535¢0dS 2

49409boon  3msbo  bAMEgbGHo,  39Mdm  Bodob
9mbs(3999000: 235600, ULobgmo @s Fgg3pligds Lod  Logsbdo.

390m0ygbgm  3MBLAHOYIBHMOO  MdogdEOL  0bo30sE0BY-
d0bmgzol.  d9ddgboom  dgmmEo  s©bodbmwo  Imboizgdgdol
3990mboGHobs©.  dodmogbogm  dm3gdmo  3eslol  geHmo
™309d3H0, dgomol  d9d39mdom  J5dMoESBgm  Fmbs39dgdo
LEAHMEIBEHOL  Tgbobgd. F9gdamd  Fg339wgm  LEHWIbEHOL

300 b¥30gg LSBT0 S bgrsbes odMoEEbgo BEgb-
Aol dmboggdgdo. 899 gdol 9650 BoIL  o8mIE0baty

3993990  ©d1336900.  IOIMPEBAL  BsBHY b 309,
“HM3903 3odMmom3wol s 2odmo@sbl BEgbE ol Lodrswm
L
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@30MM3G MO0 Lsddsm 13
0905 md093dEbg mMH096GH0MIOMO I3MHMYMTGds (2
Bsffoero)
390330006 9Md00Mds, 3modm®BoBd0, SdLGHMJEHMWOo
d900mE9d0o
559993539090 Ls30mbydo:
- 9560&030 09933000609MO0mMd;
— 0903300069 3sbdo super() 53bJ300L godmygbgds;
- 96530Md000 39933000MGJMOONMBY;
— super () 3mbjgool 4o9mygbgds M3 mdomo
0903300069Md00MO0L OOHMU;
—  mro() 390mo;
- 3m@o0dm6OHzo0bdo;
- 3m@odmmOzobdo 3993300M9Md0Md530;
- BLEOEH™MEo G9omoO.
356030 39933000MYMO0MNMS
39343650 Lodsbm Jemolio Person:
class Person:
name = ""
age=0
def __init_ (self, person_name, person_age): #3mbLEMJEHmco
self.name = person_name
self.age = person_age
def show_name(self): # dgommo
print(self.name)

def show_age(self): #dgomo
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print(self.age)

993Jdbso Person 3awsbol 8993300069 3ewsbio - Student:

class Student(Person):
studentld = ""

def __init_ (self, student_name, student_age, student_id):
Person.__init__ (self, student_name, student_age)
self.studentld = student_id

def get_id(self):

return self.studentld

353b5gdm Person s Student 3¢sligdoll ™d0gdBHIdL o
3005b9dm 990MEYdL:

personl = Person("Richard", 23)

personl.show_age()

studentl = Student("Max", 22, "102")

print(studentl.get_id())

student1.show_name()
390930

23
102

Ma=x

dm3gdme  dogowomdo  ddmdgero  3sbolb  g3mbdisoo
399m30dsbgm, MMymO:

Person.__init__ (self, student_name, student_age)

9L 90dgds 93335 Mo By39H BR300l godmdsbgdoo:

super().__init_ (student_name, student_age)
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39933000609 3esldo super() go96gd300L 359mygbgds
3934365 L5d5BM 3esbio: Animal

class Animal:
# 3006 B BHMOO
def __init__ (self, name):
# Animal 3oLl 593 1 5GHM0dGHo: 'name’.

self.name= name

def showInfo(self):
print ("I'm "+ self.name)

def move(self):

print ("moving ...")

993J0bs0> Animal 3gwsbiol 99933006 Cat 3ewslio, M™Igabsg
54369039 543U LodsBM 3¢sliols HEGHMOdMGHYdO:

class Cat (Animal):
def __init__ (self, name, age, height):
#  990m0dobgdls  Animal ddmdgo  3esbiols
3BLEHOMIEHMOL,
#6505 name - ddMdGE0 3oL SEHMOdMEHL dogboFmUl
96003690 ™ds
super().__init__(name)
self.age = age
self.height = height
# bowobwos  goblobrgdmm (override) 9dmdgo  Jarsbiol
39000 03039 babgwom
def showInfo(self):

print ("I'm " + self.name)
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print (" age " + str(self.age))

print (" height " + str(self.height))
393J3bson Cat 3esliols m309J@0 o godmgzodsbmo dgomgdo:
tom = Cat("Tom", 3, 20)
tom.move()

tom.showInfo()

890930

moving ...
I'm Tom
age 3
height 20

353000 999330MJMO0NMBS
d93J0bso» Horse s Donkey 3ansligdo, domgob dogowmom
9993300069 3sbo - Mule:

class Horse:
maxHeight = 200; # Lob@odg@®o
def __init__(self, name, horsehair):
self.name = name
self.horsehair = horsehair
def run(self):
print ("Horse run")
def showName(self):
print ("Name: (House's method): ", self.name)
def showInfo(self):
print ("Horse Info")
class Donkey:

def __init__ (self, name, weight):
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self.name = name
self.weight = weight
def run(self):
print ("Donkey run")
def showName(self):
print ("Name: (Donkey's method): ", self.name)
def showInfo(self):
print ("Donkey Info")
# Mule 3000 09933000609M00mMdSL 00gol Horse o
Donkey 3e05l90056
class Mule(Horse, Donkey):
def __init_ (self, name, hair, weight):
Horse.__init__(self, name, hair)
Donkey. _init_ (self, name, weight)
def run(self):
print ("Mule run")
def showInfo(self):
print ("-- Call Mule.showInfo: --")
Horse.showInfo(self)
Donkey.showInfo(self)
# --— Test ——--—-————-—— -
# 'maxHeight' 33moo 8993300009Md00 FoMYdME0s
Horse 3c05b0q0sb
print ("Max height ", Mule.maxHeight)
mule = Mule("Mule", 20, 1000)
mule.run()
mule.showName()

mule.showInfo()
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36530 J99gQ0:
RESTART: C:/Users/Guliko/AppData/Local

dr.py

Max height 200

Mule run

Name: (House's method): Mule

-- Call Mule.showInfo: --
Horze Info

Donkey Info

T

super () gmbggool g53myggbgds IHsg3EMdomo
39933000MgM300MdOL ™
class A:
def __init_ (self):
print('obogoswobqgds: class A')
def sub_method(self, b):
print('e50093q0s class A-qsb:', b)
class B(A):
def __init__ (self):
print('obogoserobegds: class B')
super().__init__ ()
def sub_method(self, b):
print('Q50093q0s class B-qsb:', b)
super().sub_method(b + 1)
class C(B):
def __init__ (self):
print('obogoscrobgds: class C')
super().__init_ ()
def sub_method(self, b):
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print('s0093q0s class C-qsb:', b)
super().sub_method(b + 1)

if name ==' main ":
c=C()
c.sub_method(1)
890030:

obogosemoBogbs: class C
obogostmo®oogbs: class B
obogostmoBoogbs: class L
wsobgiogbs class C-qoub:
wsobgiogds class B-qosb:
wsobgkogbs class R-qoub:

Ll k=

mro() 3gommo

mro() 99mEolL  godmygbgdom  IFIMZOTOIHM
ddmdgo 305Lgdol Los:

class X: pass

class Y: pass

class Z: pass

class A(X,Y): pass

class B(Y,Z): pass

class M(B,A,Z): pass

print(M.mro())

36maM590l d99y0:
BEESTRRT: C:/Users/Guliko/RppData/Local/F
[<class ' main .M'>, <clasz ' main .E
n .X'», <class ' main .Y'>, <class '
Fr
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3@0dm®OHxobdo
301¢0dmOHR0BIoL MYseoBgds BmbJzoom:

dsgoomdo dgddbogros mMo 3wsbo - English s French.
M@O039 3sbl 543l greeting() dgomo. ®Mogg  Jdbob
bbgo@olbgs  doLoerdqosl.  dgddboros ™o bbgssbbgs
3099430 ImE99mEo 3059000 @S A9TMAsbgdME0s 5T MmMO
309930ob 9mgddggds 9o intro g3mbdiosdo:
class English:
def greeting(self):
print ("Hello")
class French:
def greeting(self):
print ("Bonjour")
def intro(language):
language.greeting()
flora = English()
alase = French()
intro(flora)
intro(alase)

39©930:

RESTART: C:/Users/Guliko/AppData/I
Hello

3m0dmOxzgobdo 3903300609Mm3000MdS0

sparrow o ostrich fo®dmgdver 3esbgddo QobLEBMZO¥)-
oo flight 364309, 0939 HMAMOE LodsbM Jerslido, IbmE M
9o 259M5d3m goblbgsz9dwo B9dudgodo:
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class Bird:
def intro(self):
print("sGob 3M0obgzgeols IMs35¢0 Lobgmds.")
def flight(self):
print("m39GHgLmds 3MHO639w0 IROH0DIZL, T3S 9GS
g39ws.")
class sparrow(Bird):

def flight(self):
print("390w96sl 8999d0s 130M9bs")
class ostrich(Bird):
def flight(self):
print("boMsdwgds 56 RMObIZL")
obj_bird = Bird()
obj_spr = sparrow()

obj_ost = ostrich()

obj_bird.intro()
obj_bird.flight()

obj_spr.intro()
obj_spr.flight()

obj_ost.intro()
obj_ost.flight()

99020

sfol @fobggmols  3Migormo Lisbgeads.

madgdhbeds gfobigmoe pomfobsgl, ombss oM gagms.
sfol gfobggmols  dfsgomo Lsbyeds.

boerofsls Bymdmos @fgbs

sfol gfobggmols  dfsgomo Lsbyeds.

Lofsgmyds o6 ogfobagl
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BLEGHMsgdGHMEro 3900MmEO

393Jdbson  3wslio, MHMIgrog  FgoEogl  sdLE®IIEe
dgoomEL, bmem 39933000609  3eolgddo  SdLEGHMSIGHYIEO
99000 bgeobs 2563LsbL3OM™:
class Class1(object):
def test(self, x): # s0LGHOJEGHo FgMEO
pass
class Class2(Classl): #0903300609M0L  50LGHOgEGHME
9900l
def test(self, x):  # 5b0@Ib 4963L5BWIOM IgnMm©oO
print (x)
class  Class3(Classl):  #09033006MgmdL  sdLEGHGMJGHw
9900l
def test(self, x):  # 5be0@IH J963LEBOZOM IgmmMmEo
print (x*x)
c2 = Class2()

c2.test(30) # go9m0@sbL 30
c3 = Class3()
c3.test(30) # go9mo@&sbl 900
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©535¢ngds 1
39499600 L535BM Jewslio oMM 3MPbgO, Jmbozgdgdoom:
Loa®dg, Logsbg. 99ddgbom dgomEO, MHMIGEoE F9dMOMZOl
©>  ©9093o3L  FoMM3Mbgol  BoGHMdL.  Fgddgboom
9oOmMIMMbgo  Jaslol 39933069 3wslo - o3 mmbo
35059930390, dmbs39d9d000: Loga™dg, Logsbg, Lodswery.
LogMdg @s Losby 3MBLEHMMIBHMODs Mbs A5IMOE 6™
Lo0SBM  3sbosb.  d9ddgbom  dgmmmo,  OMIGo;
399000030oL s 39dM0EBL FoMrmIMmbs 3560egEI3039EOL
3oOOMOL.  F9Jdgbom ™mG039 JWwsbol mom™m Md0gdBHO

3990dsbgo Jgbodsdolo dgommegdo.

Q©535¢090ds 1

394996000 ™m0 LsdsBM 3eslio. 9dgsb gMomo Jemslo -
053553600, dmbs3989000m: 33500, Lobgwo, 3MOLo, bmwm
d9mM9 3sbo - FogoLEBHMIBEH0, dmbs3999d0m: 43560, Lobgwro,
396OLo, LSTooLEBHMM  MToL  EILIbYEGds.  S193g, LEdSBM
3woslgddo  99gddgboo  dgormgdo  Jglsdsdolo  Imbsigdgdol
300mbosBHobs. 98 ™Mo  Lodobdm  Jeolowsb  89ddgboom
Do00mgdmmo  3wsbo  MJBHMMbEG0, dmbs39dgdoo: 43560,
Lobgero,  39OLo,  LBsdsaolG®mm  mgdob  oLobgEgds o
390m390wo  IOHMIGOoL  MomEgbmds.  slg39,  99ddgbom
9900m0 dmbs398900L godmbo@sbs. d9ddgboom o 3gmeo
3ol momm  mdogJBHO @O @odmodsbgem  dgLsdsdolo
9900 900.
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30O GH MO0 boddsm 14
0995: 005000LS © EOMBSO 3MBs¢ds

5155899853909¢00 Ls3z0mbgdo:

- 056000l 300905 Bb35oLBZ MoMmEYbmdOL 356539EHM0m;

- 03M0obL 3mb39ME0M9dS LEGHMmOJMbo;

- 0560000b 459mFbs J00GdIMWo FMOTSEH0!;

- 396530900 05M0MYODY;

- 03000Yd0L J96M9d;

- ©@MHMObL 353MEsbs Lb3o@olib3s Gom©gbmdol 356599EHM0m;

- 300U d9u6H)egdol sgm3690s 29bLsbLIOHWO EOHMOm.
0560000l Jomgds sdo 35MsdgEHGom: (jgwo, mzg, Gogbgo:

import datetime
a = datetime.datetime(2019, 9, 9)
print(a)

== RESTART: C:/Users/Guliko/kppData

2019-09-09 00:00:00
0935670 M3MH0@ols owgds:
print(datetime.date.today())

== RESTART: C:/Users/Guliko/
2019-09-09

datetime.datetime g59mygbgdol Go3gbody 356056F0:

import datetime

a = datetime.datetime(2019, 9, 9)
print(a)

b = datetime.datetime(2019, 9, 9, 20, 10)

162



print(b)

d = datetime.datetime(2019, 9, 9, 20, 10, 15)
print(d.year)

print(d.second)

print(d.hour)

== RESTLET: C:/Users/Guliko/I

2019-09-09 00:00:00

2019-09-09 20:10:00

2019

15

©0935600ge0 Mool 3mbgzgME0Mmgds LGMmodmbs:
import datetime
a = datetime.datetime.today().strftime("%Y%m©%ad")
print(a)

== RESTAET: C:/Users/Guliko/I

050000l 25003365 300000930 BMOTSGHO0:

import datetime

today = datetime.datetime.today()
print( today.strftime("%m/%d/%Y") )
== RESTART: C:/Users/Guliko/
08/09/2019

05600 250mE36s 29blb39390ME0 GMOIsEH00:

import datetime
today = datetime.datetime.today()
print( today.strftime("%Y-%m-%d-%H.%M.%S") )
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== RESTART: C:/Userszs/Guliko/
2019-09-09-09.,07.15

05600©gdL Mol bbgsmdol gsdmogems:

import datetime

now = datetime.datetime.now()

then = datetime.datetime(2019, 8, 21)
delta = now - then

print(delta.days)

print(delta.seconds)

== RESTART: C:/Users/Guliko/
19
33267

05000l Jomgds, Mmdgeos 0gdbgds 7 eol 999gy:

from datetime import timedelta, datetime
now = datetime.now/()

print(now)

sewen_days = timedelta(7)
in_sewen_days = now + sewen_days
print(in_sewen_days)

== RESTART: C:/Users/Guliko/.
2019-09-09 09:22:33.916458
2019-09-16 09:22:33.916458
0500900l d9s6705. 3MmEAdo MsMOPol d933E00d F00MJO
Lbgsslibgs 99ga0:

from datetime import datetime

now = datetime.now()
deadline = datetime(2019, 1, 1)
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if now > deadline:
print("359mEol BsdsMGOOL 35005 4930005")
elif now.day == deadline.day and now.month == deadline.month
and now.year == deadline.year:
print("359m3ol BsdsMJOOL 35005 ML 809360 YdS")
else:
period = deadline - now
print("©s®Bs {} cowq".format(period.days))
print("gbe»s 56Golb:", now)

== RESTART: C:/Users/Guliko/AppData/L
pobepoool RobsBglol gos pogoos
abees sfMols: 2019-09-09 09:33:08.3902777

©MMOoL 359m @365 Lbgoslbgs Momgbmdol 3565393 Mom:

from datetime import time
current_time = time()
print(current_time)
current_time = time(12, 15)
print(current_time)
current_time = time(12, 15, 35)
print(current_time)

== RESTART: C:/Users/Guliko/

12:15:00
12:15:35

30l gl ergdol  symgbgds, dmagdvmer  gdmbggzsdo
55943690 2 {sdoon:

import time
for x in range(5):
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time.sleep(2)
print("Slept for 2 seconds")

== RESTART: C:/Users/Guliko/I

Slept for 2 =econds
Slept for 2 =econds
Slept for 2 =econds
Slept for 2 =econds
Slept for 2 =econds

0535¢9ds 1

30009 MMOO 93560 Imbs3gdgdol: figwo, ™39,
6oEbzol domomgdom.
Q0535¢90s 2
3990396900 ©®I396Io  M®oo.  25dMoEbJD O™
Ub350Lb3s MEIHMIOL 356599 BHEM00.
0535¢90s 3
09395690 MO go39mgo 30639MGH0MYOS LEGHMOJMbob
Loboo.
QO35¢09ds 4
093956090 MMHOMO 25dM0Esbgm oligmo Lsbom, O™ mgzqL,
MoEbaLs s Hgarl JmGHob ogmb ,,GoMg™.
QO35¢09dd 5
39bLOBMZMgm Lb3sMds W35 MIMOPLY s 53539 Herol
1 5230LFGHML FMOOU.
©535¢9dS 6
396L5BO3MIN DMV, HMIGE03E 8009ds 3 EEOL F93IY,.
Q0535¢9ds 7
39039bgm  BgdoldogMo  Gogbgzo,  GMIwol  AsTMEbS
59m3bqLs 3 fodoom.
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305G MO0ME0o bsdydsm 15
0905: 30580370 063 ghggolol dgddbs

5155899853909¢00 Ls3z0mbgdo:

9560030 BB ML T9Jabs;

RobXMOBY 0OH30L od3Jd;

©OE530L 5GM0dY3HGIOL gobloBw3z®o;

©03D9 FIMOL 3)F539d9;

Label - $9dby6o 3wg;

d9@9bols 390l 994dbs;

Checkbutton 994dbs;

Radiobutton 994db6s;

Listbox 99Jdbo;

9960 999abs;

d9b0mdo J399960mL sdsEgds.

3smBH030 gobx Mol d9gddbs

from tkinter import *
root = Tk()
root.title("go60g3032)0 3OmyMsds Python-bg")
root.geometry("400x300")

root.mainloop()

B36R MDY MOS0l T3EHYOS
from tkinter import *
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
btn = Button(text="Hello")
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btn.pack()

root.mainloop()

00330L 5GM0d9Egd0L 23blobM3zMS
from tkinter import *
root = Tk()
root.title("GUI -Python")
root.geometry("300x250")
btn = Button(text="Hello", # ©@ogos30l &9du@o
background="#555",# oo 30l gmbol ggMo
foreground="#ccc",# &9JuEHob ggeo
padx="20", #39%935 LEDBOZMOE 3HOBMEEHSWMES©
pady="8", # dg{ig3s LoDW3IM0WI6 39ME0IoMMO©
font="16")  # 3M0gxgEOL Lodsweg
btn.pack()

root.mainloop()

©0E53HY ©39MOL ©3ds3905

from tkinter import *
clicks =0
def click_button():

global clicks

clicks += 1

root.title("Clicks {}".format(clicks))
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
btn=Button(text="Click Me", background="#555",

foreground="#ccc",
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padx="20",pady="8",font="16",
command=click_button)
btn.pack()

root.mainloop()

Label - ¢gJu Mo 39

from tkinter import *

root = Tk()

root.title("GUI - Python")

root.geometry("300x250")

labell = Label(text="929b6sb ToFo3500560", fg="#eee",

bg="#333")

labell.pack()

poetry = "Jo®m@o 3o GHm gbss?\ndoOmmero
JoOmngz9wo Gfdgbss\nwdg®mos\ndgobfigtmss\nbogs
Mm5\nodmgbss!"

label2 = Label(text=poetry, justify=LEFT)

label2.place(relx=.2, rely=.3)

root.mainloop()

99¢39bob 39¢ols 994abs

from tkinter import *
from tkinter import messagebox
def show_message():

messagebox.showinfo("GUI Python", message.get())
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
message = StringVar()

message_entry = Entry(textvariable=message)
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message_entry.place(relx=.5, rely=.1, anchor="c")

message_button = Button(text="Click Me",
command=show_message)

message_button.place(relx=.5, rely=.5, anchor="c")

root.mainloop()

393736500 Mm@ Goryemo dsgsmomo 8g@ebols gm®doon:
from tkinter import *

from tkinter import messagebox
def display_full name():
messagebox.showinfo("GUI Python", name.get() + " " +
surname.get())
root = Tk()
root.title("GUI - Python")
name = StringVar()
surname = StringVar()
name_label = Label(text="890@&s690 Lobgero:")
surname_label = Label(text="890¢sb90m a3560:")
name_label.grid(row=0, column=0, sticky="w")
surname_label.grid(row=1, column=0, sticky="w")
name_entry = Entry(textvariable=name)
surname_entry = Entry(textvariable=surname)
name_entry.grid(row=0,column=1, padx=5, pady=5)
surname_entry.grid(row=1,column=1, padx=5, pady=5)
message_button = Button(text="Click Me",

command=display_full name)
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message_button.grid(row=2,column=1, padx=5, pady=5,
sticky="e")

root.mainloop()

Checkbutton dggdbo

from tkinter import *
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
ismarried = IntVar()
ismarried_checkbutton = Checkbutton(text="@omy sbgdmeo”,

variable=ismarried)
ismarried_checkbutton.pack()
ismarried_label = Label(textvariable=ismarried)
ismarried_label.place(relx=.5, rely=.5, anchor="c")
root.mainloop()

Radiobutton 99dbs

from tkinter import *
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
header = Label(text="s06B0ogom 3MLO",
padx=15, pady=10)
header.grid(row=0, column=0, sticky=W)
lang = IntVar()
python_checkbutton = Radiobutton(text="Python",
value=1, variable=lang, padx=15, pady=10)
python_checkbutton.grid(row=1, column=0, sticky=W)
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javascript_checkbutton = Radiobutton(text="JavaScript",
value=2, variable=lang, padx=15, pady=10)
javascript_checkbutton.grid(row=2, column=0, sticky=W)
selection = Label(textvariable=lang, padx=15, pady=10)
selection.grid(row=3, column=0, sticky=W)

root.mainloop()

Listbox 994dbo

from tkinter import *

languages = ["Python", "JavaScript", "C#", "Java"]

root = Tk()

root.title("GUI - Python")

root.geometry("300x280")

languages_listbox = Listbox()

for language in languages:
languages_listbox.insert(END, language)

languages_listbox.pack()

root.mainloop()
d9bomL 99Jabs

from tkinter import *

root = Tk()

root.title("GUI - Python")
root.geometry("300x250")
main_menu = Menu()
main_menu.add_cascade(label="File")
main_menu.add_cascade(label="Edit")

main_menu.add_cascade(label="View")
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root.config(menu=main_menu)

root.mainloop()

d96019d0 39996091 ©T53JdS
from tkinter import *
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
main_menu = Menu()
file_menu = Menu()
file_menu.add_command(label="New")
file_menu.add_command(label="Save")
file_menu.add_command(label="Open")
file_menu.add_separator()
file_menu.add_command(label="Exit")
main_menu.add_cascade(label="File", menu=file_menu)
main_menu.add_cascade(label="Edit")
main_menu.add_cascade(label="View")
root.config(menu=main_menu)

root.mainloop()
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©535¢9ds 1
394996000  gm®Ts, OG0B3 Fobomoglgom  mmbo
39@9bols 39000 s gOHO POs30. F939BoL 39qddo dgo@sbgom
LEAHMEIBEHOL: 33560, Lobgwo, SBs30. VOEE3DY (3939000
158039 3mbs3930 godmz0gl Igmmbg dg@sbol 3gendo.

Q535¢gdS 2
RmOIsDY  ©9dsBgn  Lsdo  Radiobutton, GmIgerbys

53539000 506B090 IMOF0bgdMw0s 0399 565 BEGHIbEGO.
©535¢09ds 3
RMOI>DY  ©535@H g bsdo  Checkbutton, Loy
Bo9Mm35¢gm 56Bg30m0 Loabgdo, Loosbsis bEGMab@ds Mbos
50MBoml 306033 Mo Logsbo.
Q535¢09ds 4
B0OFbY 99540 HIFVAYOO 3, Lawss LAVIvHO
390@9bl mogol CV-L.

QO35¢09dd 5
3M6OI>DY 2o8mo@sbgo 9bovy: 1535e030M05¢0, Fo0LEG)-

6565, ©MJEGHMObEHOs.

0535¢»9ds 6
99-5 ©s35¢0gds5do Jgddbogn 3960l oG go 3999609
olg, ®mI doomm 899ga0 LEAOYIEHMMS: BOJOWZMOSEHO0->1
376OLo, 2 3MOLO, 3 37OLO, 4 39OLO; FsZOLEHOSGHMEMS->1 39GOLO,
2 3796000; MJGHMOBGHMMS->1 3MOLO, 2 3MOLO, 3 39OLO.
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